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INSTRUCTIONS TO CANDIDATES trturfft .. 	q 

Read the following instructions carefully before you open 
the question booklet. 

;R-9* -a-R---rRI-)----6-4 t 1-4 -bri-  fk---711 Th-t an- 

LI 	. 	I 
1. 	Use blue/black ball point pen only. There is no 

negative marking. 
I 1. 	ccir1 	'40/ cl71e)clicri 	WiTd 	t).-I 	ct-)1 	RTTAT 	c.0 

41c1c1 	'3cci 	.. .1 	--Ifft-4.  Trrf*-if -16T t I 
2. 	Part I :- G.K., : 1 - 50 questions 

Part II :- SAT : 51 - 200 questions 
2. 9TIT 1 	: 	'fl11-11--4 *1I -I 	: 	1 	- 50 W-I I 

'41T7T 2 : 	1- t14 -q&-T-dT : 	51 	- 200 q 	.-1 I 
3. This test booklet contains 200 questions of one mark 

each. All the questions are compulsory. 
-it 3. 	**i 	m•-f lift- M-T 4 200 -cf79.  f 	Jk) t I 39-4 

.C1791 * \3vk 	'-II 31-ff4r4 * I 
4. 	Answer each question by darkening the one correct 

alternative among the four choices on the OMR 
SHEET with blue/black ball point pen. 

4. 	zw 1ct)(-A.4).  if A-  ci,ci ej 	,) t) fli fd-wFr Th--)- ttAc. 

/ 4)1(4 t6-  tEW 1)-1 c61 41K4 .0 UlqI14K1 chi I 

Example: 

Correct way: 

Wrong way: 

Student must 
correct answer 

\34I6'M 

-Tit uttm-r 

Q. No. Alternatives Q. No. f4W- I 

1 000® 1 CD CD • 0 
Q. No. Alternatives Q. No. fd-T-Fcr 

1 OD ® C) 0 I 0 ® CD 0 41dc-I -.trwr ___. 
darkening the right oval only after ensuring 
on OMR sheet. 

'Tit 	,3-,--k 	,qrp-cici 
Li-A 77 

cl.).) LR-clid 	t Wt. -14Th--(- 4 

ch) 311 	c,t-) 31F Olqac-I chi  I 	• 
5. 	Disparity 	in 	mentioning 	(SC, 	ST 	& 	PH) 	in 

application form and OMR sheet can make your 
candidature invalid. 

"PTT 31t  71 3T17 LI-A 4 *it (SC, ST 5. 	31l-k--q 14-:{ 

& PH) Th-T 
3T4zT ct-) 

3i-d7 31TEITht 	LI&IT 	4 	.1<‘t-qc11 	Thl.  
I sti 4)01 t 

6. 	Students are not allowed to scratch/alter/change out 
an answer once marked on OMR Sheet, by using 
white 	fluid/eraser/blade/tearing/wearing 	or 	in 	any 
other form. 

6. 	iFaai-r4 ,, 	6ik 	. -41-1-- 	4N). lfe-Tui 	-0, 	ct,) -r+-41. 

lit qchk 	./3- /1:4-d-r4 qft c-N-q/**d '‘i-ic.b' 
/vzi-ii 	TEI-rft -4 I-IRcif0-0 -ffef ci-) 	'-ict)a I 

7. 	Separate sheet has been provided for rough work in 
this test booklet 

7, 	co-n-4 wRi * -1:7 m.-i 1-ft- i # 34-rd-ftwi- Lj 

k1 	t I 
8. 	*Please handover the OMR sheet to the invigilator 

before leaving the Examination Hall. 
*Take all your question booklets with you. 

74:r  3117 

,-) * 

- 8. 	*-7-1- 31)- 
L.

,w44,-,1 6),) TR Tai 
q- 

f#M cP) LIMO 61 w4 I 
*fir w.-1 -g-f -r3TI col 31-cr4 Ti-NT 	-rzi I 

9. 	Darken completely the ovals of your answers on 
OMR Sheet 	in 	the 	time 	limit 	allotted 	for that 
particular paper. 	. 

# 9. -itifftff w.-I t 

'et 3' 7TT 3TFR.  Li-A 
ct'1 -uRT-4- -1 - 	i AjrTrr 

1:17.  toRinnl c0 I 

10. Your OMR sheet will be evaluated through electronic 
scanning process. Incomplete and incorrect entries 
may render your OMR sheet invalid. may  

41 3TR 10.  31-1-cw-  A LI .,;1 	0 cr0 	cr) 	Rqffri-  .w:r 

TR-r 	\rift', 	7iirrr 

	

3Trzr 

 
c , 	TT 3TR 

	

1 	3Tgt 'ffzi-r 1-rd-Tuf 3.7ft-zrr 
.RTT-tr L-1-)1 col Au ct), 	t I 

11. Use of electronic gadgets, calculator, mobile etc. is 
strictly prohibited. 

11. *cicraci) 	Titi", 	fl.+1uici), 	1 	Tc'zifit 	Thi.  
wOr 71-ff: filtruff * I 
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PART I 

GENERAL KNOWLEDGE (GK) 

(QUESTIONS NO. 01 - 50) 

(317ff \Lks4.]] 01 - 50) 

1. In VVPAT 'A' stands for - 
1. Auction 	2. Audit 
3. Augmentation 	4. Apply 

1. VVPAT# 'A' 	41c1(-14 * - 
.T 1. 	-4:T 	 2. 	Li •NiT 

3 	ift 	 4. 	eilt cM 

2. What is the vote percentage for General Loksabha 
Election 2019? 

	

1. 76.42% 	2. 67.11% 

	

3. 64.15% 	4. 69.21% 

2.  3T11i -AM-.Til-TT Vicl 	2019 *f'67 41c1 Afd":4Tff 

1-r *? 
1. 76.42% 	2. 67.11% 
3. 64.15% 	 4. 69.21% 

3. The worlds' first human rights TV Channel has been 
launched in which of the following cities? 
1. New Delhi 	2. New York 
3. London 	4. Tokyo 

3. ftg-4 	Th--r 	Ali 	Tri-9-41-14wR 	t. 	It. 	T.),-id 

1 ,--ED 	c1 14 	1c-U -1 4 k # 31TR14T 1 -zif 4 P11 

t? 
1. 	--i 	"f'< 	 2. 

-4,4) 3. 	(-4 q -I 	 4. 	at 
4.  Which one of the following statements is incorrect 

about 	the 	different 	generations 	of 	mobile 
communication? 
1 -. Only one subscriber at any given time is assigned 

a channel in the first generation (1G) 

2. In second generation (2G) mobile communication, 

5MHz multi-carrier system is used. 

3. For third generation (3G) voice call and data is an 

important feature. 

4. Global roaming across multiple networks and 

multimedia is provided to users at any time and 

anywhere at a much higher speed in Fourth 

Generation (4G) mobile communication 

4..4-41-0.  fl -r-41 f u1-4-{QT1311 4 .Pf-- 	titzll 

- 1 4-.11Nci Tzt91 # 	0-1---.R1T - 2.T . 41 dc1 

? 
1. V2TTI Efit (1 	A) -4 	ct) , -H-lo ER 4,cid l 

3#1-<FM (fl.W501*.sk) cb) -c)-Igi #1-Err \AIM 

t I 
2. itidtzl Ilt (2 A) cl-,1 TT0 Hull 

5 MHz -4-g- cilc,1') VuTIA.  4)1 
 

uT4TQTT k 
.344,1 SIT ,ticti t I 

3. VIT1 tirSt (3 v1 I)chi f'd7 clTz-N-1 cts lc,1 30 

sitI 1=1tipi fUNcl1c1  t I 
4. -4)2ft lilt (4 u1)) 4 ItaTO. 	-cm 	1--4R--Q.1-r 

4 	-Erlit-oti-r3t ct)) 	-g-d-  t ,-)tc14' 4 
.RPTiq Tat-4F tft-Tr 	-2.Tr 4-ic,cf),Ilfqt 4 

)r-i-TI 	 -f Wei-  t 30 	'41' TFRI v2-11q1 	11- 

W mqvi.  4 .-1--dt *I 

5.  Which 	of 	the 	following 	day 	is 	observed 	as 
International 	Day 	for 	zero 	tolerance 	for 	Female 
Genital Genital Mutilation? 
1. 6 February 	2. 31 January 
3. 14 March 	4. 14 February 

5. f*-1DRA0 14.  t f+-Tr I'i  Th-t Trt-FT uh-i-fiJI 

cpc-i-i * f' 	7L- f TiftEuFr gq 	TT 
\tt-f # 4-1-1N1 	u1101 t? 
1. 	6 tb-Tat 	 2. 	31 	-9-4t1- 

3. 	14 411 	 4. 	14 14-701 

6. Who among the following 	is 	considered 	as the 
`Father of Artificial Intelligence'? 
1. Charles Babbage 	2. Lee De Forest 
3. John Mc Carthy 	4. Microsoft 

6. 'T----9.  f)4--111Z9c1 	4 t f -Ti-  f4-g-r9- 	4, 	lit 
iT ,1-ic4,' 	114-1aTT \i1k-1T *? 

1. 	z11 c-<4 t-4-T 	 2. 	A t TMTZ 

3. 	v11-1 .414 	 4. 	-11V))-1-1 1-1't 
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7. What was 	the 	name 	of the 	first 	newspaper to 
announce the partition of Bengal on July 6th  1905? 
1. Swaraj 
2. Sanjivani 
3. Kalantar  
4. Anand Bazar Patrika 

7. 6 .-F1-- 	1905 	cb) 	Ci 4  I Id 	f44 IttiuTT 

cf).-) 	clic') 	Ali '191-r4k 	4%1 	4)1 	-11 4-1 	q-11 	211? 

1. 	-C-N I \A 

2.\1-1,11c4,t 

3. 4-)1d1-‘--H 

4. 3TT9- 	Glikr1k -EffT 

8. The 	"Independence 	of 	Judiciary" 	in 	Indian 
Constitution is taken from :- 
I. Britain 	2. America 
3. South Africa 	4. Australia 

g. "-c.ic-i-Atrri'dwr" 1-TFOtzi Tfftur9.  14 	 c.1.41 

•Re 	4 I 	 t? 
1 	is -ff 	 2. 	31-44- 1 

3. 	-4-14u1-  3T-ffb---T 	4. 	3TIT-fdR=IT 
. Uranium found in 'Ladakh' is an example of which 

resource :- 
1. Actual resource 
2. Potential resource  
3. Biotic resource 
4. Human made resource 

	

2. 	 T44TT-04 Ttffl1M- 

9. 'Z (-11sI 	14 	Tim 	Q-11.) 	clidi 	'I' 	1 --q- 

Ti'RTFT 	4)1 	\3<lul t :- 
1.c1N-c-114 Ttffiq-9-  

3. ci TitiTt1-9- 

4. 4-11-1c1 f4f4ff T4-TiTU9.  
10. `Teressa Island' is located in which of the following 

union territories of India? Frfti--d-  
I. Lakshadweep 
2. Puducherry 
3. Daman and Diu 
4. Andaman and Nicobar 

10. '&11 eltf"'4-117ff 	* 	f-4-.1WZ5c-1 	ctl‘i 	T4 	c-'-'s; 
&)- 	.4 t? 

1. &9-tuf 

2. aS4t1 

3. T4:1fflc tiq 
4. 31uiT9" 	cl 	f- ct-, qi 

11. Which of the following canal has reduced India's 
distance from Europe by 7000km? 
1. Suez Canal 	2. Eriez Canal 
3. Indira Canal 	4. Panama Canal 

11. 1-4-11- Nc1 	-44 0 	41-1-4 	--16 	4TR-ff--zOcr 
f1--. 	7000 14-).#1.. 	c0 4-1 	-70).  t? 
1. 	. -c-)Q-1 	-16 	 2. 	-$-It 	.-16 

.-fl" 3. 	'I 	 4. 	11-11 4-11 	.-16 

12. The term 'monsoon' is originated from :- 
1. German 	2. Arabic 
3. 	Latin 	 4. 	Hindi 

12. " 4-11-iTI" 7I-- ' c 	3--04 . 	* - 
1 	 2. 	3741 
3 	Aft 	 4. 	4I 

13. Which insurance company has recently launched the 
`Mosquito Disease Protection Policy'? 
1. LIC 	 . 

2. HDFC-ERGO 
3. S.B.I. Life Insurance 
4. Bajaj Alliance Insurance 

13. f+- 7 tTIT M-17:1-421.  A 6ie{ t 14 11TT-4TO ft---- 
q 	ct- 1.1 IA (4)4 	4 t? 
1. c,1 3q 4 
2. ,f 	t-t) 	• -1) 	- 	3T7 	ul) 31)-  
3. 1 ft 3fr" 	-f- uF PZEt-Ti.  
4. cl \ill ut 3TTF"67:11 	VT11)---€ 

14. Who has been appointed as the first female match 
referee by ICC? 
I . Mary Waldron 
2. Shivani Mishra 
3. Jacqueline William 
4. G.S. Lakshmi 

14. -RT 3TTt #t. 	A. -- 	ftt 72-1-4=1 lift67 tb1 
ffiE1-4T1 ft-4r 4  M 1 t? 
1. 	Or c41ei 	-1 	2. 	th--4rt f4,3u 
3. 	cf 	-1 	el q 4-1 	4. 	'J1 	T. 	-F-Tft 

15. Which was the first country to implement GST? 
(Goods and services Tax) 
1. France 	2. United Kingdom 
3. Japan 	 4. Australia 

15. GST 	lI 	Cr)-  clk'iI 1-16d1 	r 0-1 TT 2TT? 
1.1;bsR:' r 	 ' 	2. 	TEITT-.8- 	f4-;415H 

3. 	ulit-ii-i 	 4. 	31- "rdf1" 

16. Which country has launched the 45-days 'Mt Everest 
cleaning campaign'? 
1. China 	 2. 	India 
3. Bhutan 	4. Nepal 

16. F+-Ri 	Yl 	45--ic4&-1 	4-11t TO 	Tith-Tt 
3Ti 71-19" 	f -zrr? 

1. 	.th- 	 2. 	7-1-1-Tff 
3. 	7-19- 	 4. 	*F1F 
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17. The first parliament in the world to declare climate 
emergency :- 
1. United Kingdom 1. 
2. United state of America 
3. Japan 
4. Germany 

17. ki1c1c41q 	3i11-11(-14)141-9* 	Iltftd 	ct,4r41-  
-'t trOt 	-k-1q :- 

k-11LS 	14; 4 i.S4-1 

2.T17:1-4c . 	1\i-Li 	31141t1-  

3. \3111-11-1 

4.  

18. The book "Game changer" is the autobiography of :- 
1. Waciar Younis 	2. Javed Miandad 
3. Shahid Afridi 	4. lmran Khan 

18. -4)1i -cluI.0 	-11 414) 	li-R 	 311---- 2TI 

t I 
1. 	c4cON - ftTi. 	2. 	ul1c)q 	Lliqlq 

3. 	'11-r6-4 3T-ch-trth 	4. 	4:M9 R11-9- 

19. Where is the headquarters of National centre for good 
Governance? 
1. New Delhi 	2. Chennai 
3. Dehradun 	4. Pune 

19. Tlerzi T1R1-1 cf)-q 	T.szilcILI ifi 7QT1-9.  r17 

ft.M t? 

1. 	-1i itMi- 	 2. 	-c)--1 

3. 	le,--1 	 4. 	r)  

20. Indian Railways has developed which Al - powered 
robot for finding faults in trains? 
1. Madad 	2. Milap 
3. Cris 	 4. Ustaad 

20. 7T-170171 	(-1 	.-1). 14 	...gaLrl 40 	.f7 Al 

- 7f f ---€ .4-4 -d cil) 	1 ,1-,Ric-T f --zi-r t? 

11--- 	 fk 1. 	 2. 	a1cf 
 

3.ft-i 	 4. 	\3-(-114 

21. In India, how many states share the coastline? 

	

1. 	7 	 2. 	8 

	

3. 	9 	 4. 	10 

21. .4-1TR-ff 44ft-d-4 -Tr-E,  r -9-ip-  cie tifil 	ct,, a *? 
1. 	7 	 2. 	8 

3. 	9 	 4. 	10 

22. The world's first floating Nuclear Power Plant has 
become operational in which country? i1 
1. Russia 
2. France 
3. Japan 
4. United States of America 

	

2. 	 1:FiTi 

22. F474 	qT1. 	1TTFT 	cc-II 	3TT 	7741-Tul 	6.,...31 	71-(1.  

'-r it14>Q4(1 	41qi t? 

1. 	\1 /4rd 

3. 	u111-11-1 

ctc1 	'1\3-LI 3114-NM-T 

23. Tropic 	of cancer 	passes 	through 	which 	of the 
following group of Indian states? 
1. Gujarat, Madhya Pradesh, Chattisgarh, Manipur 
2. Rajasthan, Jharkhand, West Bengal, Mizoram 
3. Uttar Pradesh, Madhya Pradesh, Bihar, Jharkhand 
4. Maharashtra, Chattisgarh, Orissa, Andhra Pradesh 

23. f4P=f 44 t .r+.- 	luTterzt wcz-1-3- 	Ti-r-Kg 	4.4 

-- 31-r -s---dt t? 
1 	ttuN1c1, Trul -cr -tzr, v-cllfl ,w, Trfrrs-R.  

- Q 2. 'fl \310-1T9-, 	$1W__45, 	ilftqli 61,11ci, 	f-1k1-1 

3. \i 1kIT-47T, litziW-4-V, 146k, .114.S 

---1:1- 4. 4-16NN, ISrcil•-141q., 3INIT, 31t.  Si 

24. Which IIT has succesfully converted petroleum waste 
product, toluene into a useful product benzoic acid? 
I. 	IIT Indore 
2. IIT Kanpur 
3. IIT Madras 
4. IIT Bombay 

24. f ..-Ti 	31T 	31T 	tt 	k 1- 4,-f 311ftftZ 	30-11q 

-erFe 	c41) 	\it-lq) 4 i) 	\30-1N 	.-‘31)*c4-) 	3P1 	44 

.-11-brid1- 	11-- * 14Pcirci 	-1 --zfr? 

1. 3TT- 	3fi-F 	ci) 	*.q1 

2. 3T1- 	311 	o) WI-ffy.  

3. 3T1- 	3T1- 	c) 	4-1 c ki 

4. 31I- 	311 	c) (14:14 

25. First Indian railway station to get an ISO certification 
from the National Green Tribunal - 
1. Guwahati 	2. Delhi 
3. Hyderabad Hyderabad 	4. Bhopal 

25. "SiftU 71-tefzi 	3rf 	UTT 	ISO TiTuM 

ci-r 	c4101 	1-16eil 5-1-1-#17 	c'-1 	.\-Ti- 	- 
1. 	t1c1161a 	 2. 

3. 	g'Icilq 	 4. 	*TM.  
26. India's 	longest suspension bridge built 	in 	Leh by 

Indian Army - 
I. Gagan Bridge 	2. Mahatma Bridge 
3. Sardar Sardar Bridge 	4. Maitri Bridge 

26. ITTR-tzi 	-11 	-g-FT c.' 	A fifififf 'ITT -d• 	cbi TKR4 
--ii-r -m4T-9.  fo-- 	:- 

1. 	41 41.i 	f4-- 	 2. 	1=kT1ciir 

3. 	• -kqk fa 	 4. 
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27. Which 	of the 	following 	sport 	has 	/ 	have 	been 
recommended by International Olympic Committee 
(IOC) for 2024 Paris Olympics? 
1. Break dance 	2. Skate Boarding 
3. Surfing 	4. All the above 

27.3i-d7k5)T1 31-)-- 	Tifilf 	(IOC) 	2024 4R7T 

3T)-- f4- 	4-d1 # f ---q 4F/4-6) T1 71-1f#F 

- 1- -V ctr-) 4 31sT 
'-c 1. 	-T s-ki 	 2. 	std 	fff  

3. 	TT WIT 	 4. 	\P-N)q-ci 317ft 

28. United kingdom has issued new 'black hole' coin in 
honour 	of 	which 	of 	the 	following 	renowned 
personalities? 
1. Stephan Hawkin2, 

2. Charles Darwin 

3. Tim Berners - Lee 

4. Thomas Edison 

28. 71--**3 F+211-# .4 1)4---AR.qc-1 ARIT .&--71):  

'ts .,) . 	-f # 3-4 ft-U 	‘ -1 1-4-11.-T # 	-1q1 	6' 	R1-4Th 

7rf l'-7Tr ,1  4i t? 
1. 1-WTr 

2. -CI I CA 	.T114-9' 

3. Q4-I -4-4- 

4. Tr7i 71t--1-  

29. Diffo Bridge is located in :- 
I. Andhra Pradesh 	2. Himachal Pradesh 
3. Uttar Pradesh 	4. Arunachal Pradesh 

29. 'it-f)).  p.  R-P-Ta * - 

1. 	3Tiq: A---7 	 2. 	1 4-11T46 AST 

3. 	\31-1 	Wk-71 	 4. 	31VJII -c16 ';1-71 

30. Who was the first Lieutenant Governor of Delhi? 
1. Sunder Lal Khurana 
2. M. C. Pimputkar 
3. Baleshwar Prasad 
4. Aditya Nath Jha 

2. 4i. 	-Ncict)H 
 

3. (41(W ATifq  

30. ft.- 1* 	rf- e) 3 k-k fuql-116 c11 -I 0? 

1 	.<s 	(116 	a 
4  7 	li). 4) 

-) 

4. 	3TF4Tzi .9T0 	11 

31. Porcine 	Reproductive 	and 	Respiratory 	Syndrome 
(PRRS) is related to :- 
1. Cow 	 2. Pig 
3. Camel 	 4. Goat 

31. itft19 	gui.-1-1 	c-1 	c-1' 1.-1 	1 4:311:1 	(PRRS) 	c01 

.UTzr-q:  	t 1 

1. 	1114 	 2. 	3R 

3. 	.i',)'d 	 4. 	clThli  
32. Match the following hot spring locations of India 

with their states :- 7 
1. Manikaran 	A. Himachal Pradesh 
2. Bakreshwar 	B. Gujarat 
3. Unai 	 C. Patna 
4. Rajgir 	 D. West Bengal 

I. 	1-A, 2-D, 3-B, 4-C 
2. 1-A, 2-B, 3-D, 4-C 
3. I-B, 2-D, 3-C, 4-A 
4. 1-C, 2-A, 3-B, 4-D 

I. 	1-A, 2-D, 3-B, 4-C  

	

2. 	I-A, 2-B, 3-D, 4-C  

32. 7T17ff 	* 	rfili 	TRIT 	-V4:1): c , 	3QT1-91 	M-1. 	\3,ic. 

\FT- 1).  .: 	,112T Th---6-19' 	ci-)s 	:- 

1. 4-1P14)s0-J1 	 A. 	f+-11-r-46 Att4T 

2. Th-- c.H 	 B. 	4,1Q-N1d 

3. \3.-11 	 C. 	7-CM 

4. •IuiiN 	 D. 	trihT1 4 4116 
1 

3. I -B, 2-D, 3-C, 4-A 
4. 1-C, 2-A, 3-B, 4-D 

33. Which city is called 'Zero mile centre" of India? 
1. Bhopal 	2. Nagpur 
3. Jabalpur 	4. 	Indore 

33. 'IN). 	 ' ft -TT 71-07 MI. 14-1-R-d ct)1 	111--F .--- 	ct-)1 

uil(-11 	t? 

1. 	ItITT7 	 2. 	9177 

3. 	u11c1T 	 4. 	q\),  

34. Which 	state 	governement 	has 	launched 	̀Shiksha 
Setu' app to ensure a better connectivity with college
students? 
I. Punjab 	2. Assam 
3. Haryana 	4. Uttar Pradesh  

34. s-------  l'-3T 	, 1,0_1 	,m(-4-, k 	-- 	ii-a 	TRU 

'itaTT -----a- 	ti:f- 	\'. fP-cik-i 	cr) ,) 	* fm 	,)q.  
y4 Thi-  v.Trtli ft---zri 	? 
1. 	rf--  2. 	3T-ffliA-14 

3. 	6R41u11 	 4. 	3-k-i1 Wk7T 

35. Which among the 	following 	is 	not a 	̀heriditary' 
disease? 
I. Thalessemia 	2. Color-Blindness 
3. Haemophilia 	4. Leukemia 

35. f4( 143-4 cti).-T lit )  31-1-4 	, )JI 	et t? 

1. 	21- #1#1z1T 	 2. 	t7i----fetrTm 
3. 	g).1 tbnz-IT 	 4. 	crq,c.PRII 
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36. The Sharda Act is related to :- 
1. Upliftment of scheduled tribes 
2. Upliftment of minorities 
3. Child Marriage 
4. Empowerment of women 

36. Y11Nq1 311-fk74=1 4)1 3-i- M i' -7-1t *? 
1. 3T-T'Liff ‘5-1-tui n q).  4)1 37QTN 

2. 3T- 1- t-CQ=1-0 qTr 3-ctl!1-1 

3. -ftql-g 

4. 7iftcl, T3T1.  4)1 	ui 
37. 	In 	the 	Indian 	Parliamentary 	system 	'Vote 	on 

Account' is valid for how many months (except the 
year of election)? 
1. 2 months 	2. 3 months.  
3. 6 months 	4. 9 months 

37. "ZT--a' FR-erg 	'd -I 	V.1711- 1 	7 :, 	q 	c1)t" 	4 
--a-d-r f+--4 T -gt4 oct) 	-tt-  t (TIN 

citi 	4)) 	Is71-")? 

1. 	2 	 2. 	3  Irel- 	 Trel-4 
3. 	6 Tier4 	 4. 	9 Tit-4 

38. What will you call a system of taxation under which 
the poorer sections are taxed at higher rates than the 
richer sections? 
I. Progressive tax 	2. Proportional tax 
3. Regressive tax 	4. Degressive tax 

38. ji -T114 	41-1-4 3TM 	c 	VITIFJT 4) TzTT c,Q4) 

c1 41 	uk 	Ut 	y 4 	4. arrlur 	3T.fr--- 	m--7 	(14 1V11 

um-1r 	? 

1. 	ATTFT 	4) 	 2. 	3 	ct)  

	

1- 	 11:11 

3. 	t-1 -c-1 4A chr 	4. 	31-40iM Th7 

39. What is the accounting year of the Reserve Bank of 
India? 
1. April-March 
2. July-June 
3. October-September 
4. January-December 

3. 3T-4-W- 	c1  

39. 1-TF-0)-4 ft---4 4T• c.pi - 1-r -44 c.ttif t? 

1. 	341-F-411 -4 

2. 	Q1c,11.--u-k-1 

4. 	vi-ici-f47#47 

40. Podu is a form of shifting cultivation in :- 
1. Madhya Pradesh 	2. Nagaland 
3. Manipur 	4. Andhra pradesh 

40. ft, .1 -7 'fl‘rq 14 	114•1 4th C111 	-) \'()L1 t? 

1. 	liZzi vt7r 	 2. 	•-11'11Q1u 

3. 	Tift7 	 4. 	3fitliT 

41. Turpentine oil is obtained from :- 
1. Cashew nut shell 	2. Pine tree 
3. Eucalyptus tree 	4. Banyan tree 

41. til-iti*-1 cic-1 it-7 t 7-M 5)11 *? 

1. 	ct)1q 4)1 RI-1-F 	2 	sV 

3. 	V)1" ,-tfl TT 	4. 	61014 	0)1 	t).' 

42. The yield per unit area is known as :- 
1. Crop Concentration 
2. Agriculture Intensity 
3. Agriculture Productivity 
4. None of these 2. 	th-am  

42. Cith. 	*4)1i&--Y . 	14 	\34uf 	4) 	ft7f 	\h-)1-1 	14 	ui NI 

Trf1c11 t? 
1. 	(mid 	)1 4-1c-11 

Tt-1).  

3. 	kil14c-Pcil 

4. 	Z914 t ct)) 

43. In which city of India is Dhamek Stupa located? 
1. Pune 	 2. 	Delhi 
3. Varanasi Varanasi 	4. Hyderabad 

43. zoTT4T.  371 I-TTR-ff 	ft-ff 707 14 Rv-rff *? 

1. 	T) 	 2. 

3 	c1k1urt-n 	 4. 	1 ,41 

4. India's 	fastest 	and 	first 	multi-petaflops 	super 
computer 	named 	Pratyush 	was 	unveiled 	at 

• 

44. 

qr 
 

4TT-- 	4)1 	7-434 	cui 	ff21T 	ITO-FT 	tzi- 	111-(-1Ibt-I 

4c-Tli -114-14) TR ct; 	is 	 4 3f 	o.  

.3ri- 	i 
1. Indian Institute of Science, Bangalore 

2. Indian Space Research Organisation Bangalore 

3. Indian Institute of Tropical Meteorology, Pune 

4. Indian Institute of Technology, New Delhi. 

1. ITFOIRT f4-0T9-  s-i., , -471-a7 

2. 1-T7t171 3i-d-RaT 3174z-TM %-1 416.-1 trFA7 

3. 1-T1Ter4 \buict)i- c4.03r7 4-71-ii ff7i-- 	\i-iflP-Tr, 
r 

--- f 4. 'ITTRAtTi -c11.9- 1-4.  ‘-k-P-Tiff, 	--1 	ft 
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45, Protocol used for sending an email is :- 

1. HTTP 	2. FTP 

3. POP-3 	4. SMTP 

45. 	 Tfr14-Ef TT 	icilOr - --44c,f •14---4 $ 
7 f+71T viicir * :- 

	

1. 	7qt.tt.ift. 	2. 	L-r).cF).t. 

	

3. 	11..3#.1t.-3 	4. 	\9.171.ftt. 

46. In Networks, WEP stands for 
I. Wireless Equivalent Privacy 
2. Wired Extra Privacy 
3. Wired Equivalent Privacy 
4. Wireless Embedded privacy 

46. te-4-- 	14 WEP TT crq-11 3T2f *? 
1. eiH.14ff *1+-1T 1 	41 LI,Nc-11 
2. Wig 311t7-4T1 4 i) (-1 .-Ncil 

3. '471g fliqc,q4 	41 14 	q(11 

4. eiMc4f 71:4tZ 41)14-Ndl 

47. The mulberry fruit is :- 
I . Sorosis 	2. Syconus 
3. Samara 	4. Nut 

47. .7c ff TT rb-F * - 
1. 	4 	R-1 s-i 	2. 	sth*eb).-N1 

3. 	,1411 	1 	 4. 	-it 
48. Linseed is a rich source of- 

I. Vitamin C 
2. Omega-3 fatty acid 
3. Essential amino acids 
4. Antioxidants 3. 	di  rtier) 	3TTF 

48. 31-07t 14)1r-b1 	c.t)TilT4 751.- 	--1----------  
1. DeiP.-I C 

2. 31)*FT - 3 Vt \rftr 

4. 	qcq 3Twirt-- 
49. White leg-horn is a variety of - 

I. Parrot 	2. Peacock 
3. Fowl 	4. Owl 

49. - "itkq 117---11 41 	 4 1:-3T1 * - 
1. 	0 di 	 2. 	41) 

. 	 4, 	c.-cl 
50. Itai-Itai disease is caused by which metal? 

1. Mercury 	2. Nickel 
3. Cadmium 	4. Lead 

50. .g? ---*i4 	4 i r+7T 	s 	34 6 di 
1. 	77 	 2. 	f4T-F 
3. 	cr)SP-14-f 	 4. 
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PART II 

GENERAL SCIENCE AND MATHEMATICS 
1-11 411"z4 itarff 	Trfftra* 

(QUESTIONS NO. 51 - 200) 
(3749' titseii 51 - 200) 

51. 	The instrument used to conduct electrolysis :- 
1. Voltmeter 	2. Voltameter 
3. Ammeter 	4. Electrolyte 	 • 

. 51. 	Li-J 71 3TEPTe7 c 	;171)7T ft-TIT k31101 t I 
1. 	cl)e-t4) 	 2. 	-Ilc  

3. 	zTRTTITt* 	 4. 	37FIZT 

52. 	If 	the 	distance 	between 	a 	crest 	and 	trough 
(consecutive) is L then it's wavelength be :- 
I. L/2 	 2. L 
3. 4L 	 4. 2L 

52. ri+liclk aft- R (crest) q \3c-iK (trough) .$ 	Enti 

''1.  i) 	L t .-1 c1.1 wr .TTIr4zzi 61,111 
1. L/2 	 2. L 
3. 4L 	 4. 2L 

53. A particle of mass m at rest is acted upon by a force p 
for time t. It's kinetic energy after time t is:- 
1. p2t2/m, 	2. p t2/2m 
3. 0/3m 	4. pt/2m 

53. 	m 	qc2491-1 	%PicK-2-1-1 14 	t) 	Chin 1R t 

Wiq 	* 	fLi 	p 	OM 	(1 4 11,Ell 	71-4f th.  t 't-14-1z1 	cilq 

331Th°1-  ir-rd- 	thvil trft I 
1. p2t2/m 	 2. p2t2/2m 
3. p2t2/3m 	 4. pt/2m 

54. 	Correct 
distance 
planet) 

variation of acceleration 
from centre of planet 

• 

due to gravity with 
is :- (R is radius of 

54. 	f+-#1 416 	c 	cq t els) * TiT2T, 
Tocc4 	gm 	c-cNui 	--T 	9147 	04 111 	(R 	4,1  

r- 	r t 0 * 
• 

I. 
	g L. 	

2. g 
t/ 

1. g AL 	2. g/ 
t/ 

: 
r-*- 

A 
r-2-- 	*. r--*. 

• 
r- -►L 	* 

3. tgi 4. 	t 
g ►  

AL  t 

3' 

gi: 
t 
g  AL 

r.--* 	 r ►  - 4.  
► 

 r---* 	 r--► • 
55. 	A particle of mass m moving with velocity v strikes a 

stationary particle of mass 2m and sticks to it, the 
speed of system will be:- 
1. v/2 	 2. 2v 
3. v/3 	 4. 3v 

55. 	) 	m 	qc2.44-iii 	coul 	v 	krr  t 	ticrici.,, 	ct, 
1-4 2m 	a14.11--1 	%Ii-K1oTr 4 ,<t4 cour t 

ect) 	f'zTT.  v1101 t, .th *ti 1# ik -TZT .wr 
-1-r 	0,111 

1. v/2 	 2. 2v 
3. v/3 	 4. 3v 

56. 56. 12N ►  
2ke 

2kg 
12N

► A B - 
lkg A 	B lkg 

t Ertfur At'u t Friction less 

Tension in string AB is:- 
1. 8N 	 2. 4N 
3. 12N 	 4. None 

M 	AB A ci-tici >;I ii I 
1. 8N 	 2. 4N 
3. 12N 	 4. None 
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57. For 
be 

I. 	10/3 
3. 4/9 

frictionless pulley the acceleration of system will 

m/s2  
m/s2  

57. 'ERN' -zit7 TA * f 	-ftTT4 -TT ccNui 1ri I 

2. 20/3 m/s2  
4. 6 m/s2  

2Kg 

m/s2  
m/s2  

■ 

■ 4Kg 
2. 20/3 
4. 6 

2Kg ■ 

1. 	10/3. m/s2  
	 3. 4/9 m/s2  

■ 4Kg 

58. 

• 

(i) for 
shown 

• 

1.V 

3. 

• 

Relation between potential 
a cell of emf 
graphically. 

(E) and 
Which 

2. 
V 

i 

difference (V) and current 
internal resistance (r) is, 

graph is correct. 

58. f+711.  Am TT EMF E, ftl-T1-- S V, MT i q 

3II-c-IRct) VratzT r 	-r .4 
I 

• 

2. ► i 

1ui-.1 	4 	ctl-Nir 	4,111-D 

71-jet t 

V 
1. 

3. 	V V 

or 
4. 

VI  

• 

4. V 
► r 

r  ..... ►r 

59. 

Object moves 
from B -> 
1. 	r 

3. 3r 

C 	 

A (r 

B 

	 A  

path. Find displacement 
of ciruclar path) 

NE,. 

59. -) 	cKq 
B 

r 	ftR:17i 
t A 

B 

I 

i(  
. 
. 

VIcilk 	721. 	IT7 	zicitt) 
. 
. 
i 
-k r  

I 

.a-Ttrt t I 

C 

-11:F cich T4 ft-TIT 41g1 ft 

r 	A 	
• 

2. 2r 

4. ,fir 

6) 4 il I 

1 . 	r 

3. 3r 

D 
on circular 
is the radius 

2. 2r 

4. 

D 

60. On filing a tuning fork, its frequency :- 
1. Increases 
2. Decreases 
3. Remain same 
4. Increases then decreases 

60. 

3. 	c.t) '(191'I  Tet t 

.4.  
1. esi 
2. El--  

ft1R-i4 1:17 37-4' 

t 

3ITTit :- 

• 

t 

7rjdt t 
7701 

4. 	Er-6--A-  Td-et 14), 	Eruth 
61. The height of mercury which exerts the same pressure 

as 20cm of water column is equal to :- 

	

1. 	1.48cm 	2. 	14.8cm 	 • 

	

3. 148cm 	4. None 

61. 20 	).-J)4)t 
EIT .  

t-iI-1) 	* --)--61:1 	gqic-I 	6k1.5N 

T41-4 

	

1. 	1.48 

	

3. 	148 

4 r+7-i ‘4•T-11 gkl ski! AlcIl t :- 

•)41). 2. 	14.8 	4). 

•)41). 4. *-144 t col 	igi 
62. A block of wood floats 2/3 of it's volume suemerged, 

its relative density is equal to :- 

	

1. 	1/3 	 2. 2/3 

	

3. 4/3 	 4. 	1/9 

62. 7T-41 * .-) 	ttec, 	Th-T 	2/3 	FPI 	ql.i) 
3T---1 • ct.) 	cic-ii 	t, 	\Iti cOi 	31M -i4 	tliccl 

:- 
2. 2/3 
4. 	1/9 

041i 
1. 	1/3 
3. 4/3 

63. The gravitational field intensity at a point on surface 
of earth is :- [R is radius of earth] 
1.g 	 2.gR 
3. 'A gR 	 4. Zero 

63.lipcit 

&k- 	-et 
1.g 
3. 	1/2  

-. 	*106 tR 	f41\1-1) 
I [1241.1 

f 	tH 	4pc-clIct) 	ui 
t-ad-r --b-Ft 

gR 

fk-WTT R t] 
2.gR 
4. 	1,^el 
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64. 	Two metallic spheres of same material and of equal 
radius r are touching each 	other. 	The 	force of 
attraction F between then is :- 

1. 	F xi.' 	2. Focr4  

• 
3. F ocr2 	4. Fa r 

64. 	Ich 	'1 411-1 	T1T3Tth 	* 	r 17-7-7. fr i 	.. 	zITIT 	41)(1 
c,t) ett1 	t 7i-t 7 ti .5.-tc; siYti 3rwi-ur El (1 

4 1I 	:- 

1. 	F ccr6 	 2. F ocr4  
3. F ocr2 	 4. F cc r 

65. 	A body released from top of tower falls through half 
of height of tower in 3 sec, it will reach the ground 
after :- 
1. 3.5 sec 	2. 4.24 sec 
3. 4.71 	 4. 6 sec 

65. 	ticH t Bch .<-cici-,1 t)t-I t fil7th § 	4 t1cN 
c , 	31T11. 	4,-r414 	3 	-0--.1 	# 	OrTt 	* I 

1:47 itfft t- 	Eli q tr-g--Tft 1 
1. 	3.5 T)*03. 	 2. 	4.24 .0Th'17  
3. 	4.71 -0t .u . 	4. 	6 T)*133.  

66. 	If a particle is thrown vertically upwards, then its 
velocity so that, it covers same distance in 5th  and 6th 
sec would be :- 
1. 48 m/s 	2. 	14 m/s 
3. 49 m/s 	4. 7 m/s 

66. 	'ct 	VI .3tc1-11F ‘1)t-N c 	30 lt-4 W-eI * I 
*ticol 	trT 	c -1jit 	z4 6 	5 	c12Tf 	6 	-R)ThTr . 	4 
't-1 4-11-1 	c1,41 	tie) 	1, Ii 	I 
1. 48 m/s 	 2. 	14 m/s 
3. 49 m/s. 	 4. 7 m/s 

67. 	An object while moving may not have :- 
1. constant speed but constant velocity 
2. variable velocity but constant speed 
3. non-zero acceleration but constant speed 
4. non-zero acceleration but constant velocity 

67. 	ci-) 	cv<1 •1g)) :- 
-Tr 1. 	Bch 	t14-11-1 	Vet L17-1 .14-11-1 

2. 	'kg I:R-1 	c-f-) \1-1 1-111 TIM 
3. 3PIR4 c-ckui 	c.r) ‘-1 1-111 TIM  tFT-1  
4. 31774 ccNui 1:17-1 	c,i, 	, -1 1-11-1 	4 1 

68. 	The numerical ratio of average speed to average 
velocity is :- 
1. Always equal to one 
2. Always less than one 
3. Always more than one 
4. Equal to or more than one 

68. 	Aziff 	Tim 	MIT 	3117ff 	-71. 	.W1 	\LikceiIclict) 

3TTITff 001 * I 
1. tici 1 * eN16H 001 t 

2. 'It4 1 t tOeT 6) or t I 
3. fl 	cf 1 	t sill 	6)(-11 t I 
4. 1 * GRIGN TIT vtilql 

69. 

A 
velocity 

time 

69. 

A 
velocitY 

• 

• time 0 	 B 0 B 
The graph represents :- 
I. Constant -ye acceleration with -ye initial velocity 
2. Constant -ve acceleration with +ve initial velocity 
3. Constant +ve acceleration with -ye initial velocity 
4. Constant +ve acceleration with +ve initial velocity 

1- -1 	4,114) CRitff ct-Pc11 * :- 
.. 1. 1P-c4c-1 -ve cr-Nuf 	TiTzT -ve 3TTRNTTT  * 

'TINT 2. iRtic-1 -ve cr-Nui 	+ve 31-Rfilrl 	*TT 
3. 	I. R-r-ici +ve c-cHui c, -RiTeT -ye 31TR-fk 	tTT 

4. 	1* .cici +ve ccHui ." 'FM +ve 3TRi 	F,  *IT 

70. 	Velocity-time graph for free fall of object is :- 
lo-t 	0 0.t 

70. 	-f-lci-A WEI t iiiRt cOul 'TT -471--t19.4 914) t :- 

o a•-t- 	0 loq 0 

1. 

vv 

2. 

v 
I. 

vv 

2. 

v 

v 

3. 

A 	 oFt 

4. 

v 

v 

3. 	

ii 

• 

4. 

0 	►t 

OFt 

0 	0- t 
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71. 	Area underr acceleration time graph is equal to :- 
1. Change in acceleration 
2. Velocity 
3. Change in velocity 
4. Displacement 

71. 	c-1Nui-M11 1 IAN) 	&-)7IFF gki 1cpciidi t :- 
1. 	cc1,uf 4Rcick 	2. 	TT 

3. 	kr!' I:ft-449. 	 4. 	ftRqTriff 

72. 	If displacement of object is proportional to t2  (t is 
time). The acceleration in motion :- 
1. Constant 
2. Increase with time 
3. Decrease with time 
4. No-relaxation exist 

72. 	LA 	cpui 	T5T 	f4MT1:18. 	\9 41'1 	* 	44 

3T- M7IFITO).  t 	411.0 4 ccNul 6 411 :- 
1. f44-d- 
2. tii-iLf 	TiRT *ITT 

-87T 3. t1+iL1 * TTP-T El 
4. *-14 ct- 	SET 161.  6 01 

73. 
displacement 
Velocity-time 	graph 	of an 	object 	is 	given, 	its 

time graph will be :- 
v (velocity) 

t (time) 

73. 	*Tr--tp-izi 	4,114) 	WA1 	CP<1 f. 	ftqf 	t I 

i.tict)i 
• v 

fOTT1c19.  - t14V4 	914) 6)'11 I 
(velocity) 

t (time) 

1. 

S 
• 

2. 

S 

t 1. 

S 
• 

2. 

S 

L 
t 

3. 

► t 

S 

1 	 4. 
.1-  

S 

* 
► r 

3. 

►t  
s 

I) 	4. 

s 
• 

,------' 

► r 	 ► t 

74. 	When 
point 

3. First 
4. First 

1. Decrease 
2. Increase 

pressure applied on 
:- 

increase then decrease 
decrease then increase 

water increases, it's boiling 

2. 	*4001  t 

74. 	41 	t-ii-i) 	tR 	(1 414 	ci1c4 	qflici 	61q,lell 	viN  
\3t1 c1 	qr.( zi -1 I ci) 	:- 
1. 	titc-if t.  

3. 	ITO Glcil t 	titc1T t 
4. 	WO t-icll * 14-) 	M t 

2. No 

75. 	On increaseing 
1. Changes 

3. Change 
4. Change 

temperature 

effect 
with decrease in 
with increase in 

of body its colour :- 

wavelength 
wavelength 

75. 	ft--#1 cN-q .$ MIT -4 TdT4 1:17 ‘31c1)1 trr :- 
1. tritem Om t 
2. 	trit44ff -igi 6 of 
3, 	c-t 41 t-6-4 t4t4 	31)7 1-0c4i4c1 0 4 11 
4. 	0441 tel ell.-) et 30 LiRcif4cf 61411 

76. 	The 
time 

A 

1. 

graph between frequency 
period (T) is :- 

v 

 2. 

(v)by sources and its 

v 

T 

76. 	ti)c1 

t I  

I. 

mi't 31-1--lf -  74 3T1-4-4.-  

v 
• 

i 	2. 

41-ci 	i1- 	4-iii-o 

v 

T 

3. 4.
► 

 

v 
• 

v 
• 

3. 

►T 

v 

4. 	l'..._ 

v 

-1' ► T T 	 IT 
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77. The amount of water rises up per minute by a pump 
of power 2 KW upto Height 10m :- 

	

1. 1200Kg 	2. 1150Kg 

	

3. 1250Kg 	4. 1225Kg 

77. 2KWTII-d7 rill.  gki 10 to 4l-r-ii 	act) 	--;d--4 
cii(,) rift WF YD R17-dc u4411-1 0 411 :- 

	

1. 	1200Kg 	 2. 	1150Kg 

	

3. 1250Kg 	 4. 1225Kg 

78. S.I. unit of Intensity of sound is :- 
1. J m2s-1 	2. W m2 
3. J m-2S-I 	4. I'm-ls 

78.  4 th-0--dT ---1-  SI 	4-11 -Act) t :- 
1. J m2s-I 	 2. W m2  
3. 	J M-2S-I 	 4. 	I'm-1s 

79.  A cricketer catches a ball of mass 150g in 0.1 sec 
moving with speed 20m/s. He experiences a force of 

1. 300N 	 2. 30N 
3. 3N 	 4. 0.3N 

79. '‘.41ts 	150g 4 -41-'F T)" 71 20m/s 4 
-cud 	t 	-IM 	7gt 	t 	0.1sec 	14 	Mt-ici) 	e)c11 	t1 
\3sflct 	51e4 31-TN -r+- 	4 N) cid Wr 1Trff 
1. 300N 	 2. 30N 
3. 3N 	 4. 0.3N 

80. Which one is self adjusting force :- 
1. 	Kinetic friction 	2. 	Static friction 
3. Nuclear force 	4. None 

80. ffilf 14 0-1 311. .N.Ei LI Rciq.c1 cid t :- 
1 	Ted7 44v1 	2. 	fted7 Willi 
3. 	-11944 cid 	4. 	chi 	-I gi 

81. When milk is churned cream separates out because of 
the :- 
1. cohessive force 	2. Gravitational force 
3. Frictional force 	4. Centrifugal force 

81. "). Acf ET 	TIM ‘3-1101 * 	ski 31-a-TT t 
. --et t, chkui 	:- 
1. 	.t1k1‘31 ci) ci el 	2. 	V)c-ci 	GM 

3. 	tigul cid 	 4. 	31f4174 ci d 

82. Work done by a simple pendulum in one complete 
oscillation is :- 

82. fl'“,i 	d Oct) 	gki 	-) 	q)(-1-1 	# . --zif 77:fr coi4 
0 411 	:- 

1. Zero 	 2. ji:-/g. 

3. mg cos 0 	4. mg x 
I. 7k---44 	 2. 	mg 

3. mg cos 0 	 4. me,t,  x 

83. A body of mass m accelerates uniformly from rest to 
v1  in time t i . The power delivered to the body as a 
function of time t is :- cN-c 

	

1. 	mvi t/t i 	2. 	mvi 2t/t1 2  

	

3. 	mv,t2/t, 	4. 	mvI2t/ti 

• 

83. .in Bch 	c4.1 4-ii.-1 	c.61 	c.Kcl 4T f47TPE t t1  fl 41 4 
-Tr 	v1 	t)- 	\yin 	t 	7{4 	(1-) 	fli-ii-t 	ccNui 	t I 

Th).  ti 	4I 	7-rf4Ti 	tl 1-V1 	t * 	1-1) cri '-i 	t)4 

14)4 ii 	:- 
1. 	mv i t/t, 	 2. 	mv t 2t/t1 2  
3. 	mv i t2/t i 	 4. 	mv i 2t/t, 

84. Two bodies of mass m and 4m are moving with equal 
kinetic energy the ratio of their momenta is :- 

	

1. 	1:4 	 2. 	4:1 

	

3. 1:2 	 4 	l:/ 

84. t c“-qc .1'9* 	qamii 	m 	c .2.TT 4m * t1411-1" 
TIt- 	k3)u11 	t 	'cid 	7-&1- 	* 	*--Ic 	tiW 	Wi 
31,Tru 61411 :- 

	

1. 	1:4 	 2. 	4:1 

	

3. 	1:2 	 4 	1:15 
85. . On temperature scales upper fixed point is :- 

1. Boiling point of alcohol 

2. Boiling point of mercury 

3. Boiling point of water 

4. Boiling point of petrol 

2 	Th-T `tuck  

85. 

3. 1-11-1) chi 
 q

-4P-1-ql* 

c111-1 TITO 	tbil.4 t 	\3-mi RPtio .f4- 	6)01 
t :- 
1. 	c<P) 	(-I 	qz1.21-9fT 

. 	ITT 	2-1 

4. 11-0-F TT q-42.Tt- 

86. A body is just floating in a liquid. If the body is 
slightly pressed downwards and released it will :- 
1. Start oscillating 
2. Sink to bottom 
3. Comeback to same position immediately  
4. Comeback to same position slowly 

86. Bch 	cmj  iv.-1) # -81--- 	Tr-d--g  -* 41--..t. 	bci * I 
\3) 2.1)71 71T qc1Ict-r 	Es-)7 ftzIT ‘)-1H) c 	cj 	:- 
1. 	Th-Pzfff 'If 

2 . 	7R1Tft 
3. qcf 371-41 'c{ 3M-2.11 # 3flifift 
4. 3P:it t 	3N-i2TT 4 Eit- --tift 311-47ft 
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87. Why dam of water reservoir is thick at the bottom :- 	. 
1. Quantity of water increase with depth 
2. Density of water increase with depth 
3. Pressure of water increase with depth 
4. Temperature of water increase with depth 

87. L.114 z t'tT .t . t 4-11, 	1k) * :- 
1. 4 I6 	* TiT21- 111.-1) 4 4-11%11 Tddi t 

2. 4 I6 	TiT4 414) 	ti‘-lcri Elq.c11 t 
3. 41 	* 772T 14i4) "WI "q-41-4 qp-f t 

4. 415 	TINT tift 'WI UPI 61 q. CI I t 

88. The loudness and pitch of sound depeixis on :- 
1. Intensity and frequency 
2. Frequency and no. of harmonics 
3. Intensity and velocity 
4. Frequency and velocity 

88. 

3. 	t-adT  7 -4 	77 

zA-f 	4 lissielcIl 74 RIrr rq* Th-edt t :- 

1. t-a-d-r 74 arrl-ft q 	. 
2. 3T9it J '~'cP'1 * 91:qt IR 

4. 	31Tift 74 TIT 'ER 

89. -40° F is equal to :- 
1. -40° C 	2. +233K 
3. 312K 	 4. -72° C 

89. -40°F GRIcN t :- 

1. -40° C 	 2. +233K 
3. 312K 	 4. -72° C 

90. If mass energy equivalence is taken into account, 
when water is cooled to form ice, the mass of water 
should 
1. Increases 
2. Decreases 
3. Remain unchage 
4. First increases than decreases 

90. 

. 

LIR 	qaPil-f 	thvil 	tWur 	cp' 	1-Ivil 	vII 

LH 	Wrc c24 4-11-1 	vial 	\3' 	 61' 	Wt 
‘3-1141 * 	- 

1. 4-4-Tft 

2. t1 	TI 
3. 31riNft-d- 	I 
4. ITUA" *ITT f.4-) 	Ela-TTT 

91. Latent heat of vaporisation is used to :- 
1. Overcome the forces of attraction between 

molecules in solid state. 	. 
2. Increase kinetic energy of molecules in liquid state 
3. Overcome force of attraction between molecule in 

liquid state. 
4. Increase the kinetic energy of molecules in vapour 

state. 

91. clitatrul c 	To ,37.11 -cr-41--n. Ac 	* :- 
1. 6) fl * Th-tril 	41 . 14 31-rwOr qd c1)) LIK 

cl.).) 	14 	 . 
2. cl 	cr)t-4 4 lTrd . ki).1-11 cp' Td1-4 4 

3. --q. * Wt. * 4-ci 14 3TWITTT M-1 1:TR cl.).) 

14 
4. ci1u-( 31-4MT * Th-crlI c6) 1Trd 	‘37vi 	cl) 

Td-T4 4 
92. Which of the following choice will not change the 

state of matter ? 
1. Temperature 
2. Crushing of the crystal 
3. Pressure 
4. Electricity 

92. 1 ,-.-ARIci 4 t 	ci.)--i 	.RiT faWFE tr<TO 
3T4Q.Ti cp) -1b1 .q---F ti OM ? 
1. ciit-frivi 
2. 1-,*ecvi Th-t --41-4 t c1).-11 
3. 414 
4. fV 

93. 

• 

The melting and boiling points of four substances P, 
Q, R and S are given below. 
Substance 	M.Pt (°C) 	B.Pt (°C) 
P 	-189 	 -98 
Q 	-132 	 -163 
R 	-166 	 -103 
S 	-115 	 -86 

Which of these substances will exist in liquid state at 
-140°C and in gaseous state at -100°C. 
1. P 	 2. Q 
3. R 	 4. S 

93. T•IH tr<Ril 	P, Q, R 	3117 S * 	4 I Qi'l iCt) 	47 

qzt24-9-t- 	4t-. f 	er r t :- 
114T2O 	41(1'1101 (*C) 	.4-42•Tt(eC) 
P 	-189 	 -98 . 
Q 	-132 	 -163 
R 	-166 	 -103 
S 	-115 	 -86 

* -q. *144 t 	).-1 of tRTzt -140°C 1TR' 	31-4MT 

3117 -100°C ER 4ti 31-- --IT 14 4iLII vilci 1 t :- 
I . 	p 	 2. Q 
3. R 	 4. S 
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94. 	The heat of vaporisation of H2O, C2H5OH and CS2  
are 40.6, 38.6 and 26.8 KJ mold  respectively. The 
order of decreasing inter molecular force in these 
liquids is : 
1. H2O > C2H5OH > CS2 
2. CS2  > C2H5OH > H2O 
3. H2O > CS2  > C2H5OH 
4. CS2  > H2O > C2H5OH 

94. 	H2O, C2H5OH UtIT CS2  'T1.  c1Itt4.1 R4Fil-  51)41U 
40.6, 	38.6 	'MIT 	26.8 	KJ mol'I  g I 	0 	c c-1).  
is  IT 3T1TT 4-6.  TT 5t),-1 t - 
1 . H2O > C2H5OH > CS2  
2. CS2  > C2H5OH > H2O  
3. H2O > CS2  > C,H5OH  
4. CS2  > H2O > C2H5OH  

95. 	Match the given substances with their properties and 
choose the correct option. 
Coloumn I 	Column II 
1. Water 	(P) Particles move randomly 
2. Sugar 	(Q) Layers can slide over each 

other 
3. Nitrogen 	(R) Changes directly to 

gaseous phase 
4. Ammonium 	(S) Particles are not free to 

Chloride 	 move 
I. 	1 - (S), 2 - (R), 3 - (P), 4 - (Q) 

2. 1 - (Q), 2 - (S), 3 - (P), 4 - (R) 

3. 1 - (P), 2 - (S), 3 - (Q), 4 - (R) 

4. 1 - (R), 2 - (Q), 3 - (S), 4 - (P) 

95. 	1:1410 	31' 	3-ffT 	TIVA 	TT 	flgl 	taT9.  
Th`tf- 
cOic,1 4-t 	I 	cOici 4-I 	II 
1. vi (4 	(P) w  ur 	ITT 

Cfr< 	g I 
2. ti)-11 	(Q) 1-Na 	ct) eo 	.34N 

1 	"- 	'ITth g I 
3. -11* 	virt 	(R) Atzl 4•t) 314T2TT # 

gRcaci t) uilc11 g I 
4. 31TITTETT 	(S) coui 1pff \'nt-i t 414i-i 

ctri 	i*s 	.1g1 chi ti gen) I 
1. 1 - (S), 2 - (R), 3 - (P), 4 - (Q) 
2.   1 - (Q), 2 - (S), 3 - (P), 4 - (R)  
3. 1 - (P), 2 - (S), 3 - (Q), 4 - (R) 
4. 1 - (R), 2 - (Q), 3 - (S), 4 - (P) 

96. 	Which of the following is correctly matched ? 

1. Emulsion - Curd 

2. Foam - Mist 

3. Aerosol - Smoke 	 - 
4. Solid Sol - Cake 

96: 	'R4--AR.qc1 Ti t itT1 'TT filaTff cicP ftzfr 
TIM' t ? 
1. *4-11.-1 	- 	4g) 
2. (-0)41 - qt1' 
3 	74Tria.  - q3iT 
4. 	o)tf '1k'f - cct) 

97. 	Which method can not be used for the purification of 
liquids? 
1. Sublimation 	2. Chromatography 
3. Distillation 	4. 	Fractional Distillation 

97. 	Ri-ARgo -4 t 0.-1  At ititc cl).  'W).  

't ct).) 4 741-Tr -igi 	.-r Tr----dt t? 
1. 	3-tcliciffff 	 2. 	st)) 	t 4,i14 

3. 	3TTRT4 	 4. 	CI-Tilt 3TIRT44 

98. 	In modern surgery, metal pins are used for holding 
the broken bones together. These pins are made up of: 
1. Copper 	2. Stainless steel 
3. Aluminium 	4. Brass 

98. 3T1git 	ic--41 .W4K-tii 14-  tc,or) 	§ 	6 	,sq 	Tt 

317131' -41- 	1 /4,11.) 	* -f'7 	w  -- 	1.-E wr crzkrr 
-zrr Am! t, 	1.-1 Errg * $la t - 

1. 	ct7i\-1 	 2. 	t8.-ic*4-1 
3. 	-14-ePtiff 	 4. 	litd6.  

99. Which of the following is not a pure substance? 
1. Tin 	 2. Coal 
3. Ice 	 4. Lime stone 

99. 	f*--ARgo # t 0-I vjR.ET 1:m0 1g1 t? 
1. 	-I 	 2. 	T)71-FT 

3. 	6.11 	 4. 	t'1l Erce.17 
100. Which of the following solution does not show 

tyndall effect ? 
I. Soap solution 
2. Starch solution 
3. Solution of egg white in water 	. 
4. Copper sulphate solution 

	

1, 	 tici 
 

100. 	1.--11WZgt-i 	-# t 	col-r 	=r-r 	Iciti-f ftz-F 73-11-4 
rIgl 	1.51c-11 	? 

TfTS7 TT 
2. 	'talc eizfrt  i -TT 
3. 	3T 	Tflt-4).  TT i. eiqi-i 
4. 	ct;it-H Tretd TT i4c,i zi 1 

101. What will be the mass percentage of a solution 
containing 30g of common salt in 220g water? 
1. 12% 	 2. 22% 
3. 1.2% • 	4. 3% 

101. 	30 1311:1 .14-tco Tt 22037T 41.4) # EltF4 1:R.  44 
it-6-44 Th°1 	c.i-11111 WilOCII fd-4t $)4n? 
1. 12% 	 2. 22% 
3. 1.2% 	 4. 3% 
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102. Volume occupied by 1 molecule of water (density of 
water = lg cm-3) is :- 
1. 6.023 x 10'23  cm3 
2. 3.0 x 10-23  cm3 
3. 5.5 x 10-23  cm3 
4. 9.0 x 10-" cm3 

102. 	IIT-41 * lcp 3Tuj W 3171-d-ff f+d-9.1-g - (L-11 
-3) W ii'ic-cl = 1 g cm 

1. 6.023 x 10-23  cm3  
2. 3.0 x 10'23  cm3  
3. 5.5 x 10-23  cm3  
4. 9.0 x 10-23  cm3  

103. The number of atoms in 0.1 mol of CO2  gas is : 
1. 	1.8 x 1022 	2. 	6.02 x 1022 	. 

	

3. 3.6 x 1022 	4. 	1.8 x 1023 

103. 	0.1 	9)(Pi 	CO2 	1\9 	# 	11717131311 	Thl. 	ctql 	\'-1s411 

cltil Aqft? 

	

1. 	1.8 x 1022 	 2. 	6.02 x 1022  

	

3. 	3.6 x 1022 	 4. 	1.8 x 1023  

104. An alkaloid contains 	17.28% of nitrogen and its 
molar mass is 162. The number of nitrogen atoms 
present in one molecule of alkaloid is :- 

	

1.2 	 2.4 

	

3. 	1 	 4.3 

104. 	c-17 	k- c.ciN.5 	Iticor 	c c2.1 49.1 	162 	t 	47 

-r -R-{4.  17.28% .11*0‘31.-i 31IR-21-ff t, 374 	) 

39 4 .-ti*Ovfri * f+--d-4 ER-1,r9 ucENT-d.  t :- 

	

1. 	2 	 2.4 

	

3. 	1 	 4. 	3 

105. Numbers of atoms in 558.6g Fe 
(atomic mass of Fe = 55.86 g mol-1) is :- 
1. 6.022 x 1022 
2. Twice that in 60 g carbon 
3. Half that of 8 g He 
4. 558.6 x 6.022 x 1023 

105. 	558.6 	919 	Fe 14 3.-clft21-d tr7F9311 	*i...Q41 

crzit A-4'1 ? 
(Fe W. 1:7971 	c2-191--1 = 55.86 g ma') 

1. 	6.022 x 1022  
2. 60 g 	-1-4--q # 3-c1*-M rI71:19311 7)- 	4  I 11 

3. 8 g He t &TM 
4. 558.6 x 6.022 x 1023  

106. 52u of He contains 
1. 4 x 6.022 x 1023  atoms 
2. 13 atoms 
3. 13 x 6.022 x 1023  atoms 
4. 4 atoms 

106. 	52u He # 321-ff t 
1. 4 x 6.022 x 1023 ITRTErtij 
2. 13 1171:11-cg 

3. 13 x 6.022 x 1023  1:M17g 
4. 4 z1-71711 	 • 

107. The formula of a metal chloride is MC13  then the 
formula of the phosphate of metal M will be :- 
1. MPO4 	2. M2PO4 
3. M3PO4 	4. M2(PO4)3 

107. it711 sug M * creil,o*.s W.  Ti MCI3  

zl-f 	M Z 4-)N-Lk W 1,-A cre4i 6)91 :- 
1. MPO4 	 2. M21304  
3. M3PO4 	 4. M2(PO4)3 

108. Which of the following particles has the highest value 
of charge/mass ratio,? 
1. Electron 	2. Apha particle 
3. Neutron 	4. Proton 

108. 	1 1-.111Z.Ici 	-4t 	1-4)*Rpi 	31T 	T/ c c,,-4 4-11.-1 
3T- rrff -wr ITN flc-inct) *? 

1. 	*e)ct0-1 	 2. 	31-ez5T (put 
3. 	Vi-9. 	 4. 	;ftaff 

109. The ratio between the number of neutrons in C and Si 
(atomic mass of C = 12 and Si = 28) 

	

1. 	2:3 	 2. 	3:2 

	

3. 	3:7 	 4. 	7:3 

109. C 3117 Si 14 3ITRP-MT-9-).  W &TIM * :- 
(emu qu-191-1 C = 12, Si = 28) 

	

1. 	2:3 	 2. 	3:2 

	

3. 	3:7 	 4. 	7:3 
110. If A has 9 protons, 9 electrons and 10 neutrons, B has 

12 protons, 12 electrons and 12 neutrons. Formula of 
the compound between A and B is : 
1. B2A3  B2A3 	 2. AB2  
3. BA2 	 4. AB4  

110. 	qk 	A 	-$ 	LIM 	9III---aff, 	9 	*c4c1. 1.1UP-TT 	10 

ig-17' 	* 311-7 B * 41 \LI 12 100-9., 12 *cc-t0.-( 

21-T 12 VIff' 	t,. -1 A 3117 B 5N1 .4-4 

W *1,-;1 ctql 6) 41i :- 
1. B2A3 	 2. AB2  
3. BA2 	 4. AB4  
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1 1 1. The average atomic mass of an element 'A' is 16.2u. 

	

A 	
18  A There are two 	isotopes 	

1 
8
6 

A 	and 	8 	of the 16 

element. The percentage of these two isotopes in 
element 'A' are respectively 
1. 10% 90% 	2. 90% 	10% 
3. 20% 80% 	4. 80% 20% 

111. 	c-Icti 	'A' 	.c1-4 	3Itifa 	MI:17g 	c c.,-ftli.-I 	16.2u 	t I 

	

A 	18  _A___ 
A 'A' * t .14-N-2/rfk- 	8 A 	i-H 	8t 1 	*-i 

4)-11 	711=R-PTTftW1 	chrl 	m("Omcii 	ci rt1 	' A ' 
Olin f+d4I t-Tft? 

	

1. 10% 90% 	 2. 90% 	10% 

	

3. 20% 80% 	 4. 80% 20% 
112. Alum helps to purify the muddy water by : 

1. Absorption 
2. Dialysis 
3. Precipitation 
4. Coagulation 

112. 	14.)cf. ' gm Tit.  q141 .--1. -T4 cP' 	4 ff 
t :- 
1. 31-4-4-Epir 
2. 51q1R1'1 	(czicifo.--f) 
3 	31.4e-YEPT 
4. 	t(k.-1 

113. 	 polymer is used for making nonstick 113.  	W-g-F- 	wr 	vth-rr 	9 	Rqq,) 	gig) 
utensils. 
1. Teflon 	2. PVC 
3. PAN 	 4. Buna - s 

.491 Thl. 	# f -Tir .licit t I 
1. 	4'eii.-1 	 2. 	TiFt.t-A. 
3. 	1)17.79'. 	 4. 	9T - s 

114. 	Solder is an alloy of : 
1. Sn and Zn 	2. Al and Pb 
3. Pb and Sn 	4. Pb and Zn 

114. 	ti cr-5 	ftP3T 9-1-g t :- 
1. Sn 31tR.  Zn 4 	2. Al 3117 Pb 4- 
3. Pb 30 Sn 4 	4. Pb 3t)7 Zn 4 

115. On heating lead nitrate brown gas obtained is : 
I. N20 	 2. NO 
3. N205 	 4. NO2 

115. 	el5 	,-11* 	t -.-)" 	11-4 	c..). 	117 	%P. 	tr 	Thl. 	4  ti 
5t1t-c1 	VI t, vl) Pb :- 
1. N20 	 2. NO 
3. N205 	 4. NO2 

116. After white washing, formation of 	substance 116. 1t 	GIN ftqlt (61 -cmcp 	 tr-q2 
gives shiny finish to the walls. 
1. Quick lime 	2. Lime stone 
3. Slaked lime 	4. Calcium sulphate 

*4-4t"0-ttI 
1. 	31-TgET VII 	2. 	-ck) 	-.-T 1:1-c2R 
3. 	pi.  tot 	 4. 	ct)ic1q4.f Tr4U 

117. Formula of compound used for supporting fractured 
bones is : 
1. 2 CaSO4  • H2O 	2. CaSO4  • H2O 
3. CaSO4  • 3/2 H2O 	4. CuSO4  • 5H20 

117. 	ecr) § 	ui).).  # t16141c-17zitliM W 
•<1,-:4 	t I 
1. 2 CaSO4  • H2O 	2. CaSO4  • H2O 
3. CaSO4  • 3/2 H2O 	4. CuSO4  • 5H20 

118. 	Antirust solutions are : 
1. Neutral 	2. Alkaline 
3. Acidic 	4. Amphoteric 

118. 	vi+i Th*-11 Pc,“4.-f 6)c).  * :- 
1. 	\3qIA-1 	 2. 	&91tRT 
3. 	311AtzT 	 4. 	WITRIA 

119. 	isotope is used to detect blood clot. 119. 	q9.  '. U-4* TT LICH 	C'I 4 ii4 	fM 	 

I. CO - 60 	2. I-131 

3. Na-24 	4. As - 74 

,W-10-1Tft 	wr vztrr ftzu ,iicti t1 
1. Co-60 	 2. 1- 131 
3. Na - 24 	 4. As - 74 

120. The latent heat of vaporization of water is : 
1. 2.25 x 105 1/Kg 	2. 225 x 105  J/Kg 
3. 0.225 x 105  J/Kg 	4. 22.5 x 105  J/Kg 

120. AM 	ciActrOil 4 Tci SIT t :- 
1. 2.25 x 105  J/Kg 	2. 225 x 105  J/Kg 
3. 0.225 x 105  J/Kg 	4. 22.5 x 105  J/Kg 

121. The number of atoms present in 4.25 g of NH3  is : 
1. 	1.0 x 1023 	2. 6.0 x 1023 

	

3. 2.0 x 1023 	4. 4.0 x 1023 

121. 	4.25 'MIT 3T 	IT (NH3) # trfiTT131311 	\Li...,411.  

t :- 
1. 	1.0 x 1023 	 2. 	6.0 x 1023  
3. 2.0 x 1023 	 4. 4.0 x 1023  

122. Metal ion present in oxygenated haemoglobin : 
I. Fe3+ 	 2. Fe2+  
3. Co 2÷ 	 4. Mg 2+  

122. 	3if4Scit7f - 	-t7 4 mg 3171-9' 'utif 	t :- 
1. Fe3+ 	 2. 	Fee}  
3. Co2+ 	 4. Mg2+  

Page 16 of 24 



123. How many moles of iron can be made from Fe203  by 
the use of 16 mol of CO in the given reaction? 
Fe203  + 3C0 --> 2Fe + 3CO2 
1. 	1.67 mol 	2. 	10.67 mol 
3. 2.0 mol 	4. 3.0 mol 

123. 	qi) 	4 1 	31-ifft-zfT 	14 	CO 	* 	16 	11)-F 	4)1 	V171-)-11-  

4)c 	Fe203  1):  t 311717-9-  * f+-d-4It---0.  q917 

ull 	s1c1') 	t? 

	

e203 + 3C0 	2Fe + 3CO2 
 

F 
1. 	1.67 l'ItF 	 2. 	10.67 11)-F 

3. 2.0 19)-F 	 4. 3.0 -91-F 

124. In the given reaction A1203  + 3Mg - 	3MgO + 2A1 
Mg is used as : 
1. 	oxidant 	 2. 	catalyst 
3. Dehydrating agent 	4. Reductant 

124. tt qc) 	41i 3T-Pff1T .# 

A1203  + 3Mg ---> 3MgO + 2Al , Mg 	;171-171-  6)01 

- 

1. 	6L1T-11?-14) 	 2. 	6c4'N) 

3. 	uld 	Rt4)Nicl) 	4. 	11-1.c1H14) 

125. If the density of water is 1.0 g cm-3  and that of water 
vapour is 0.0006 g cm-3  at 100°C and 1 atm, then the 
volume occupied by water molecules in 	1 	litre of 
steam at this terriPerature and pressure is : 
1. 0.6 cm3 	2. 6.0 cm3  
3. 60.0 cm3 	4. 0.06 cm3 

125. 	100°C 3117 1 atm 	-14 	LkITT--41-  3117 6'c14) -4T1Eq 

3 	 3  4)1 1-1-1cc1 	04-In 	1.0 gcm 	3117 0.0006 gcm 	t I 

iT1-  cl1L1 4-11-1 	31,7 	et1G1 	Lk 	1 	f'd-d7 	-q-rtg:r 	# 

ft 	1TM).  * 391 	4>f 3f14--d-9" 4-ElT 0 411? 
I. 0.6 cm3 	 2. 6.0 cm3  
3. 60.0 cm3 	 4. 0.06 cm3  

126. Which 	of the 	following has 	more electrons than 
neutrons? 

26 A 73+ 

	

1. 	9F' - 	 2. 	1 -3/-11 

16,-,2- 

	

3. 	8U 	 4. 1 1  23Na+ 

)1 -.79---  126. 	1.4---IWZqc-1 	14 t 	rl-Ri 	g-19.' 	.0 31f4T.  

*e)c1- 1--1 	t? 

19F- 	
26 A 73+ 

1. 	9 	 2 . 	131-11 

16 ,-.2- 	
23Na+ 3. 	8U 	 4. 	1 1 

127. 	is a molecular crystal. 127.   Lcb 3TU 	D> 	ei * I 
1. Dry ice 	2. Quartz 
3. Rock salt 	4. Diamond 

1. 	 2. 	14 t eN (4c1W-,Q-.1) 
3. 	*IT -14-14) 	 4. 

128. 	Atomicity Atomicity of sulphur is : 
1. 	2 	 2. 	8 
3. 	4 	 4. 	1 

128. 	41c- t1,4 	Lk 41Iuj4K11 WIT *? 
1. 	2 	 2. 	8 
3. 	4 	 d., 	1 

129. 	Which of the following metal can displace 1-13, gas 
from an acid? 
1. 	Pt 	 2. 	Cu 
3. Ag 	 4. Ni 

129. 	14--1i- i-z1d 	# 74 41-1 ?TT mg, 3-1-1, r .R-).  142 	4 
4)) f4 --2rf4d.  w--41-"? 
1. 	Pt 	 2. Cu 
3. Ag 	 4. Ni 

130. 	Dissolution of NH4C1 in water is an : 
1. Neutralization Reaction 
2. Exothermic Reaction 
3. Endothermic Reaction 
4. Precipitation Reaction 

130. 	NH4CI 	4)1 	\rid # R-It.-i 	04ii :- 

1 	6q1R-1•114)1 31Pa-TiT 

2. 	6-) b1-11e1 3T-PritTI 

6-) lf=f1 3. 	L4-111)til 	3Tft 

4. 	31-47 3-1-ftft7j1T 
131. 	In which of the following organism self fertilisation 

is observed 
1. Rohu 	 2. Round worm 
3. Earth worm 	4. Livre fluke 

131. 	ffi- T .4 t .1 --Ti 1T-4 -44 1-cl.fkkq9-  6)1T t 1 
1. 	)q, 	 2. 	71-1----f# 

3. 	ci-)13.1T 	 4. 	f:-q-R-  tt--q- 

132. 	Flame cells are excretory organism 
1. Flat worms 	2. Earth worms 
3. Glow worms 	4. Round worms 

132. 	f+---R-i -dt-4 -44 uclIc11 	4))P14)1q 6c-6u1-1 3#1 .0-01- 

* - 
1. 	-qui8" T-Pf 	 2. 	TIT 

3. 	4  CI) .011- 	 4. 	4  I) (-1 T-#1 
133. The husk of coconut is madeup of 

1. Collenchyma tissue 	2. Parenchyma 
3. Aerenchyma 	 4. Sclerenchyrna 

133. 	.11Nei 	4)1 --TT-pd-  ft5--- T R)114)1 61-11 	11 t 

1. 	4>ic.-4)1* 411 	 2. 	Q.-4)1*4-11 

3. 	'-cf)I* 4-11 	 4. 	4-(4)(>1-4)1*1-11 
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134. 	Which of the following has pseudocoelom 
1. Flat worm 	2. Round worm 
3. Earth worm 	4. Tape worm 

134. 	f' 	. I.-41 A ct)t 4,151 1  Wt t I 
1. 	-1:1-4-#1 	 2. 	4 1)d 
3. 	(.. -97 	 4. 	ltrd-T Ti4 

135. 	Which of the following is an insecticide 
1. 	Pencillin 	2. 	BFIC 
3. 2-4D 	 4. IAA 

135. 1 -1 1.  14 	C6)'-f-til 	(-.t) 	4t'IRIC.11 	t 

	

1. 	I).-nilif.-1 	 2. 	tf. 	-,_.1. 	X1. 

	

3. 	2- 4.41 	 4. 	IAA 

136. Vacuolar membrane is called - 
I. Plasma membrane 2. Tonoplast 
3. Turgid membrane 4. Chromoplast 

136. 	Rf 	lcm itr 4,6I v1101 * - 
1. 	I-01Q-411 	ftIT-A. 	2. 	t).-1) 1-cr1ftt 
3.cT 	ftr- 1. 	4. 	sr)) Oil Lc>iN-t 

137. 	Murrah is a high yielding breed of 
I. Cow 	 2. Hen 
3. Buffalo 	4. Sheep 

137. 	11-Ri ffir # t 	w0 .3-10 ft-T4it 

	

1. 	4 1R1 	 2. 	1St 

	

3. 	A-Ti 	 4. 
138. Secretion of enzymes, mucous and hormones is done 

by 
1. Golgi apparatus 	2. Mitochondria 
3. 	Ribosomes 	4. 	Plastids 

138. 	.-utt*4-1, 	7- zsTif 	cl 	-1-IN 	4)1 	'A1c.11J1 	f+7{ 

ckciNt 	f -Tfi uIR-11 	t I 
1. 	Titt 	\31-icilut 	2. 	4-11*t)4)-11 - 11 

3. 	•fl*c4W 4-1 	 4. 	I-MIR-t5 

139. Both B & T cells of immune system are produced in 
1. Spleen 	2. Bone marrow 
3. Lymphoid organ 	4. Thymus 

139. 	St Dul Rct) 	c-1-)1 	4 	ft. 	i 	cr). 	cMDicmq 	coei 
f4t1-ff 6)() t 

1 	IfI-6-F (Tzil-q) 	2 	31-R-21-  4i w11 

3. 	(-,1.-nc.bi  3#1- 	 4. 	21FORT 

140. The third kingdom added in Haeckers system of 
classification was 
1. Protista 	2. Monera 
3. Fungi 	 4. Archaea 

''CRTR-F 140. 	ct-)c,i 	cOnct-Pulu:1-q3.-zTT 	4 	SilPlvlplcl 

0-1--TiT 	\3-1).1 	4 H-II 	2.1T 

- -ti 1 	4)i 2. 	-9)----RT 
3. 	tb----1 	 4. 	31-Rf+-41- 

141. 	Entamoeba gingivalis lives in 
1. Intestine 
2. Colon 
3. Pus pocket of pyorrhea 
4. Stomach 

141. 	.3T 	4T D -.Al 	oll,(1 TT 34-T-4T--fl-  6)c11 t 
1. 31-tff 
2. (41) ci) -1 

3. EU-ft-ZIT 4 Li ,d tp co r31): -4 
4. 3P77174 

142. 	Lichen 	are 	important 	in 	studies 	on 	atmospheric 
pollution because they 
I. can grow in highly polluted atm 
2. sensitive to pollutants like So, 
3. Efficiently purigy the atmosphere 
4. Use S So2  to grow 

142. 	(-11V).-1 	W-liCkU l ATITT 	q1.- ' # 3T-47:19.  CM,) 

i -7 11--6--cp-f * q-4-- -4 
1 	31T-Eitl 	Arfff cildIcNut # \3 4 I 	,1(1-)c 	t 

2. 	So2  k31, ) V71T. 	r7 ‘-iaq.-10)e-f 6)a 

3. 	citclIcNut 	ct-)) 	7j-- 	(-1) 	‘ -lct->a 	t 

4. 	it * -12-q.  so2  CM .3LiLill chic- f 

143. 	Which of the following cell will burst when placed in 
hypotonic media 
1. Onion peel cell 
2. Fungal cell 
3. E ioli  
4. Red Blood cell 

. 

143. 	0-1-4 	ch)D1c4-)1 31-F1 I-NH-Nut 	1-ir Rc,M-i 

TEI-4 TR IF-e-  ,-i 14rt 
1. 1--Iluf 	cl 	tlr 	c) 	(-4)1 	1c1,1 

2. c0 c1ct) 	cr))P14)1 

3. 0 	ct)01 

4. cilei 	7-'1- 	cb)1 ict)1  

144. 	Haemoglobin is dissolved in plasma in 
1. Earthworm 	2. A scarfs 
3. Tape worm 	4. Insect 

144. 	f+-71.  v'l-q.  # 	)4-1) 4 c--N.-1 IdIv4-11 # UFT 	6c-iT t 

1. 	c -q3TT 	 2. 	-a, -r 
3. 	1- 111(pi 	 4. 	ThfIZ 
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145. A river with high BOD value is 

1. Highly polluted  

2. Highly Highly clean  

3. Highly productive 

4. None of these 

145. 	c.i-) 	9 	RIk-i 4)1 	t.31)..tt. 	\3-c;c4 	, -c-k 	'cR 	t 	c 

1. 3R-71-  

2. 31-ffi 	.t-ci -cks) 

3. 3Tf - 	\30-11q ct,  

4. .3 ,-1-c-t 	4 	ct)) 	-9--ef 

146. 	Which muscle cells get tired soon 
1. Skeletal muscle 	2. Cardiac muscle 
3. Smooth muscle 	4. All of these 

146. 	-1-97fir 4-ik1O1 R1) 	cbil 	(41)Plcill 	7-(-741- 	. 2.1Th 	uTit 

t 
1. 	ct->cbid 	Oft 	 2.  

3. 	f -m--t 1)71)- 	4. 	\34N1cf\-1 Tit 

147. 	Prokaryotic cells do not have 
1. Lysosomes 	2. Plasma membrane 
3. Nucleoid 	4. Ribosome 

147. 	1;11-4*q 	- 1 co)11ct,134):  4  

1. 	Q-N-1-14)H-1 	 2. 	'1--4 	-04 	ct)Q-11 

3. 	ct-; 	Th-P-T 	 4. 	‘1*c,N-1 4-1 

148. The test tubes A, B, C are taken with good material 
sample 	of rice, 	mustard 	and 	dal 	respectively 	in 
powderd form. On addinat, iodine solution the black 
colour is observed in 
1. Test tube - A 	2. Test tube - B 
3. Test tube - C 	4. Test tube - D 

148. 	t-k 	-1c1 	A, 	B, 	C, 	D 	44 	s.0 4-11. 	T-11c1c1, 	-11 	c.i.  

'f'7 4Ici -- Trf Tfir7r trr2f * '1,0 	4 N t i 
-trr 71-4 3171)Atff 1F)6-  f4-dT4 Lk f --- i-4 cOldi 

 4411 	I 

1. 	Lk•-ic,-1) - A 	2. 	LW.5-1(4) - B 

3. 	1-1 ,1Q-1) - C 	4. 	1-k..qs1A - 	D 

149. How does protoplasm differes from cytoplasm? 

1. Cytoplasm & protoplasm are parts of nucleus 

2. Protoplasm includes nucleus and cytoplasm 

3. Protoplasm is same as cytoplasm 

4. Protoplasm is a part of cytoplasm 

149. 	Qc-Iczi . c.i 4))1lci,1 &f 4)11.P1-- 	*? 

1. q) -I). 	c..- 	cll 	-- 	r 	-g 
fl 4-11W c..-  	--ojf 	cq if 2. ct) 	c_i 	cO)P14)1 	flu 

t 

3. 4)-1). 	-H1-1 t 

4. 1clqa-1 	cf))1Ic1)1 T-0:1-  4)1 4-I FT t I 

150. 	Which is not a postulate of cell theory? ' 

1. All cellsarise from pre-existing cells 

2. Cell is the basic unit of life 

3. The fluid substance of the cell is protoplasm 

4. All organisms are composed of cells 

150. 	c11)P1c1-)1 fti41t cbc) 3Tf*-TTTuTT ct-)1-1-4 9-ef *? 
1. Tit cil)Dlci-)1(1  ":4d1 cP)Plc1)13t ti 

t 1 
2. 4)1%4)0 	rq- 	--`). 	*q-)1 	* I 

3. 4))P14,1 	4)1 	c-kc,i 1-1410 . 1-4 Tuj t I 

4. Tit It4 cb1114,1341 --. 4-4 * I 

151. Match the items of column 'A' Column 'B' 
Column 'A' 	Column `13' 
a) Tendon 	(i) 	yellow fibre 
b) Ligament 	(ii) white fibre 
c) Cartilage 	(iii) osteocytes 
d) Bone 	 (iv) chondriocytes 

1. a - (i), b - (ii), c - (iii), d - (iv) 

2. a - (iv), b - (iii), c - (ii), d - (i) 

3. a - (ii), b - (i), c - (iv), d - (iii) 

4. a - (iii), b - (iv), c - (i), d - (ii) 

"q" 151. 	7--74-1- 	̀31." 	ct-,1 	T-14-T 	falzrzi 	Ukr'd-ff 

7 - 

"31-' 	 ".&" -324-1- 	 -141-  

a) -R1-7j 	(I) 	tfl-d-dg 
b) 3TR-211 1- 	(ii) 	Ti-ch-4 ciq 

(iii) 	3 c) (iii) 	317u 

d) 3T-NT 	(iv) 	3c1TR'-2-1-  4)1R14-)1 

I. 	a - (i), b - (ii), c - (iii), d - (iv) 
2. a - (iv), b - (iii), c - (ii), d - (i) 
3. a - (ii), b - (i), c - (iv), d - (iii) 
4. a - (iii), b - (iv), c - (i), d - (ii)  

152. 	The Principal cereal crop of India is 
1. Wheat 	2. Maize 
3. Sorghum 	4. Rice 

152. 	41-17-d-.r"1 7j-C-q-  3H1- 	4-1 el 	 t I 

1. 	41( 	 2. 	4144)1 

3. 	, -ik 4 1 4-1 	 4. 	T-Ilciri 
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153. Animal husbandry is the scientific maria2ement of 
(i) animal breeding 
(ii) culture of animals 
(iii) animal live stock 
(iv) rearing of animals 

1. (i), (ii) and (iii) 

2. (i), (iii) and (iv) 

3. (ii), (iii) and (iv) 

4. (i), (ii) and (iv) 

1. (i), (ii) and (iii) 
 

2. (i), (iii) and (iv) 
 

1 	153. tM-1-11(1,1 4)1 41Pcb C1-4 	t 

(i) 1:71 	1.1Q-1-1-1 

(ii) tr71 #ENT.1-  

(iii) 771-9 

(iv) TP1311 	4)1 	s.V..1cf 

3. (ii), (iii) and (iv) 

4. (i), (ii) and (iv) 
154. 	Who is known as the father of white revolution in 

India? 
1. Prof. M.S. Swaminathan 
2. Dr. V. Kurien 
3. Dr. Yashpal 
4. Mrs. Indira Nancy 

154. 7117d- 	14 	74ff 	Th--Tr- 	* 	.51.-1,0 	--izr 
uII-II 	until 	t? 

1. Ch 	4-10 	10 	-ci 1 41)-IIP-1-9- 

2. 10 to 42,N-r 
3. 5I0 	q11-11(.1 

4. 4P:rei "ekT 1-41.  

155. 	Ozone is 
1. Poisonous 	2. Sweet 
3. Not harmful 	4. Nothing 

155. 34-- 	t 

1. 	u1 	di 	 2. 	litT 

3. 	611cilkcf) 9tf 	4. 	To 9 
156. Ipomoea is a 

1. Dicot 	 2. Monocot 
3. Algae 	 4. Moss 

156. 3T1*1:1)#4T t, l clo 
1. 	it-iiillt 	 2. 	c.t)(1)\.rit-1 

3 	/1-41F 	 4. 	1:117i 

157. Cotton chemically consists of 

	

1. 	cellulose 	2. 	Protein 

	

3. 	nuclein 	4. 	Pectin 

157. (-WAN-1 It .N1RPT \'9t-1 	Oc1 g 
1. 	t:1-dt7 	 2. 	thtl- 

3. 	.R:04---d7 	 4. 	.14f4-C9.  

158. Chara belong to 158. cONI   c14 
... 1. Thallophyta 	2. Gymnosperms 

3. Angiosperms 	4. Dicot 
1. 	21--d -cb-r-*--d-r 	 2. 	- 

3. 	3TTF-ili 	4. 	f- 	iv 

159. Exocoetus is a 
1. 	Flying fish 	2. 	Lion fish 
3. Dog fish 	4. Angles fish 

159. cN1) ,1)t fl t, 

1. 	. ,-r 	-ftc 	 2. 	dRI-I 41-13 

3. 	51 4 I ITETt 	4. 	4 (-,N TIEFA' 

160. helds the body parts together and helps the 160. 	 71t7 	'T 	3#11 	ct') 	fl i2,1. .--4---1T * 	3.1t 
body move. 
1. Muscular system 
2. Skeletal system 
3. Musculoskeletal system 
4. Respiratory system 

71-t-R.  c4,1 ft-dr. # #-T-q cfrmi t 1 
1. 	ter 	cl -A 	 2. 	ct-;chici 	c-1 -)1 

.21 4. 	N-1.-1 	cl-)f 3. 	1Wri-cr;c1,1c9-  c1 	 c 

161. is major factor in deciding the soil structure 161. TpT 	"ctr 	1• -c),-T- 	c-1-1 	chi-) 	14 	 
1. 	Fertilizers 	2. 	Roots 
3. Humus 	4. Pesticides 

cf)Nct) 	t I 
1. 	c14c4-) 	 2. 	\)-1. 

3. 	--9,-1,-r 	 4. 	14-)t-I1YIct) 

162. Lichens are very sensitive to 	in the air 162. (-11*4)-1 	qPj 	A 	3q-R-ff 	 
1. Coe 	 2. NH3 
3. So2 	 4. No2 

31f1 	1fq-14c.,1 0(-) t 
1. Co 2 	 2. NH3  
3. So 2 	 4. No2  

163. When a cell divides by meiosis it produces : 163. v1 GI VT cl") DIV 31---0 1;lit711.  g-RT f4#-T-f -ff 
new cells 
1. Two 	 2. Three 
3. Four 	 4. One 

tt t, c161 t 	 7-1- 	cb)Rict-)I 	tt t I 

	

1. 	 2. 	-611-9.  

	

3. 	-1-R" 	 ') 
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164. 	Peptic ulcers is related to 
1. Helicobacter pylori 
2. Trypanosoma 
3. Leishmania 
4. Viruses 

164. E 3T--- TR.  f+7174 tiAifci * - 
1. 	fcr)1.,:lct-t 	rfrOtt 
2. 	t49)31ffr 
3. (41A1.11 
4. ft7934 

165. 	Leghorn is related to 
1. 	Poultry 	2. Apiculture 
3. Dairy Farming 	4. Pisciculture 

165. .0 e) 41614 *Ulft41-ff * 	 
1. 	41 
3. • V 

Yid -I 	 2. 	ligITTIth LlIri-1 
\ictiiqi 	4. 	4-itoefi 	4-i1dei 

166. Which is responsible for the increase of the stem in 
growth. 
1. Cortex 	2. Xylem 
3. Cambium 	4. Phloem 

166. ff4 " 12I 1:01 .  14 Vt f+74.  ct)1•01 
2. 
4. 

dl t? 
1. 	ci;IJcN-1 u11*.e14-1 
3. 	ct)T4q 4-1 ITA7ITI 

167. Stomata open at night in 
1. Hydrophytes 
2. Halophytes 
3. Mesophytes 
4. Succulent 

167. 	 14 	ir:f 14 ts-  6)() ti 
1. 7A-4P14tfttll 
2. ciclunq 1:11.0.  
3. -i)t-Ill*c.t-i 
4. tM-1/ 40qk 41q4 

168. 	Haversian canal occurs in 
l. Humerus 	2. Scapula 
3. Clavicle 	4. 	Pubis 

168. - 8c1R-141,1 	ct,ikil-fiqi vim * 
(TTP-s`Th-T) 	2. 

4. 
1. 	,i-i..t-i *iFT 
3. 	ci-c4ict)ri tIftE 

169. 	Hardness and stiffness in plants 
tissue 
1. Parenchyma 	2. Sclerenchyma 
3. Aerenchyma 	4. Collenchyma 

because of the 169. Itizt 14 c1,0)01 74 IT-Wf \3-c1ct) 	el.  
iu16t'dt * I 
1. 	--c01*411 	 2. 	\i-ct)ArtP1*111 
3. 	-1c01* 4-11 4. (0)e).-ct)l*I-if 

170. 	Viruses are 
1. Nucleoprotein 
3. Mucocasbo 

particles 170. cpUl t 
2. Carboprotein 
4. Proteinomuco 

1. 	1,14c1 qW cf).1 	2. 	CO I GI W 	ri 

3. 	is)) cr) i Gil 	 4. 	cll.-1) 4-v)) 

171. 	If 

1.2 
3. 

x+1  3 	x-1 
of x is 171. 

c., 	x+1.)
3 

X - 1 	_. 
t 

-2 
-1 

x+3 

() 

1 

= 	, then the value 
x+5 

2. -2 
4. 	-1 

zliq 	(.-x
+3 

1. 	2 
3. 	1 

	

=
x+5'

cii x 	fRiff 

	

. 	2. 
4. 

172. Value of 

4 1 . - 
47 

	

2. 	
4 

47 

- 

	

3. 	
4 

47 

4.
4  

---i9-v3 
47 

1 	 3 is r._ 172. 1 	 3 
+ 	 "wr ,_ 	 r._ lin' t 

-+4--5+141 190 

r_. + 
2+15-2V2 	2-4-3- 4-2V2 

I 
r9 , .1 3

n 
 -4-.1& _5 +14] 

f 	r-
16. 

r 
[9,./3 	

,---
-NA-  -4- -5 -14] 

r 	(- 
+4-I + -5 +14 

2+.\5-2V2 

1. 
4  

47 
4 

2.  
47 
4 

3.  
47 

4. -4  
47 

2+-‘5+2V2 
1 	r- ,9,3__,F6-  -,ri +141 

f 	r- 
1.9-0 +16-  ---5+14] 

r 	r- 
0-V3 -416-  - -5 -141 

[9-r3+4,r6- +.5+14} 

173. 	If 

1. 
3. 

512-1 	 x+5F7 x+5[3 
173. 

. 

55-1 	_., x+5F7 x+Sr3 
TTF t x= , 	,, then the value of 	 _ r  is 

V3-1J7 	 x-5\F7 	x-5\13 
2 	 2. -41 I. 
8/,__ 	4. yr__ 
/ V21 	 V21 

qR x= , 	f- , oi 	 _ r- TT 
,13-1-‘17 	x-5̀ F7 	x-5v3 
22. 	-51-  

3. y 	 4/ 4.  
V21 	 V2 I 
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174. If the polynomials 
p(x)=4x3 - ax2  +2x-1 and q(x) = 3x3  - 7x2  - 8x + a 
leave the same remainder, when divided by (x -1), 
then the value of 

	

1. 	1 	 2. 	1/2 

	

3. 3/2 	 4. -3/2 

174. 41R ----F-4-1 	p(x)=4x3 - ax2  +2x.-1 	3117 
q(x) = 3x3  - 7x2  - 8x + a I 	(x -1) t 	1T 	is 

l'-zrr ,i p) t 	., t *EFFF fird--d-r t, . 	'a' 
-r miTrff t 

	

1. 	1 	 2. 	1/2 

	

3. 3/2 	 4. -3/2 
175. Factors of 6x2  -5xy-4y2  + x +17y -15 

1. (2x +y -3X3x - 4y +5) 
2. (2x- y-3X3x - 4y -5) 
3. (2x -y - 3X3x + 4y +5) 
4. (2x + y + 3X3x + 4y-5) 

175. 6x2  -5xy-4y2  + x +17y -15 * +lull RRET3 t 
1. (2x + y -3X3x - 4y +5) 
2. (2x - y - 3X3x -4y-5) 
3. (2x -y -3)(3x + 4y +5) 
4. (2x + y +3X3x + 4y -5) 

176. If 	x = 3[2i 	and 	y = 3571 	then 

	

1 	is 

value 	of 176. qR 	x = 3i28 	3117 	y = kriT  

I TIM 	411 x+y 	2 
x +xy+y2  

1. 	8 	 2. 	7 
3. 6 	 4. 5 

X + y 	2 
X +xy+y2  

	

1. 	8 	 2. 	7 

	

3. 6 	 4. 5 
177. The value of 0.2 + 0.23 is 

	

1. 	0.43 	2. 	0.43 

	

3. 	0.45 	4. 	0.45 

177. 0.2 + 0.23 M-1-  T117 t 

	

1. 	0.43 	 2. 	0.43 

	

3. 	0.45 	 4. 	0.45  

178. If x, y and z are real and 
(x -2)2  + (y -3)2  + (z -4)2  =0, 	then 	the 
xy+yz+zx is 

	

1. 24 	 2. 26 

	

3. 28 	 4. 30 

value 	of 
178. 4 	x, 	y 	31t 	z 	cutki 1 co 	*c.P-TT 

(x - 2)2  + (y -3)2  + (z - 4)2  =0 t 	xy + yz + zx 5T 
TEM t 

	

1. 24 	 2. 26 

	

3. 28 	 4. 30 

179. If p2  -3p-1.0, then the value of p2  + 1 	
p

s 

1. 	7 	 2.• 9 
3. 	11 	 4. 	13 

179. 41 p2  -3 p -1= 0 , t p2  +-1- Th-T 1TM t 
p2 

	

1. 	7 	 2. 	9 

	

3. 	11 	 4. 	13 

180. If m+n =7 and m3  +n3  =133, then the value of 
m2  +n2  is 

	

1. 29 	 2. 49 

	

3. 69 	 4. 59 

180. 4 m+n =7 T2-TT m3  +n3  =133 t m2  +n2 	--1 
TIM t 

	

1. 29 	 2. 49 

	

3. 69 	 4. 59 
181. If 	x+y = Vi , 	x-y=,h 	then 	the 

8xy(x2  +y2 ) has the value 

1. 5-5 	2. 105 	• 
3. 20 4. 5 

expression 181. zi 	x-y=ih, 	x-y=-5 	t" 	t 	uivici) 
8xy(x2 +y2/ 	TITff t 

1. 5-5 	 2. 105 
3. 20 	 4. 5 

182. Factors of (3x2-2xX6-3x2  + 2x)- 5 are 
1. (x -1)(x+1X1+3xX5 -3x) 
2. (x -1Xx +1X1+3xX5 +3x) 
3. (x -1Xx + DO -3xX3 +5x) 

4. (x -1Xx +1X3 - xX5 -3x) 

182. (3x2-246-3x2  + 24-5 	ttul.-Ngu5 t 
1. (x-1Xx.+1X1+3xX5 -3x) 
2. (x -1Xx +1X1 +3xX5 +3x) 
3. (x -1Xx +1X1 - 343 +5x) 
4. (x-1Xx+ IX3 - xX5 -3x) 

183. If m = 2p +-/P2  +k , then k in terms of p and m is 
1. (m+ pXm +3p) 	2. (m+ Ain -3p) 
3. (m- 2pXm-3p) 	4. (m- pXm -3p) 

183. 11 	m  = 2p+ -1P 2  +ktpff 2-1Tm .  '-1 	4 k 
TE 1TF t 

1 . (m+ PXn7  +3P) 	2. (in + Am -3p) 
3. (in -2pXm -3p) 	4. (m- pXm -3p) 
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184. If p-x =1 and 3x + 2 + 3 	4p - 3 - , then the value = 184. 	'11 p mx , 1 30 3x + 2 	3 	4p-3 t x  mi + 	= 
5 	2 	2 

ITI-9.  t 

	

1. 	1 	 2. 	-1 

	

3. 0 	 4. 2 

5 	2 	2 
ofx is 

	

1. 	1 	 2. 	-1 

	

3. 0 	 4. 2 

185. If 52"fr1  =25' +100, then the value of 6-'n  is 

	

1.6 	 2.36 
3. 	I 	 4. 	1  

	

-6- 	 36 

185. 41 	52'1  = 25'1 +100, c -).  6-1n  WI TIT9.  t 

	

1.6 	 2.36 
3. 	1 	 4. 	1 

	

6 	 36 
186. If 	x = 3 + 3)  + 3% , 	then 	the 	value 	of 

x3  -9x2+18x -10 is 

	

1. 	-1 	 2. 	0 

	

3. 	1 	 4. 2 

186. 	-iR 	x = 3 + 3)' + 3. ' , 	t 	x3  - 9x2+18x -10 Th-T 
Trrff t 
1. 	-1 	 2. 	0 
3. 	1 	 4. 2 

187. If a+b+c=2, ab+bc+ca=-1 and abc=-2, then 
the value of a3  +b3  +c 3  is 

	

1. 	-8 	 2.0 

	

3. 	8 	• 	4. 	16 

187. 	qR a+b+c=2, ab+bc+ca=-1•UzTT abc=-2, 
t a3  +b3  +c3  *TT 
1. 	-8 	 2.0 
3. 	8 	 4. 	16 

188. The coefficient of i in (x+3Xx-5Xx +7) is 
1. 28 	 2. -28 
3. -5 	 4. 5 

188. 	(x +3Xx - 5Xx + 7) # i TT TM* t 
1. 28 	 2. -28 
3. -5 	 4. 5 

189. In figure, AD = AC = CB then the value ofx is 

1. 51° 	 A 

2. 78° 

3. 34° 	

Aid i° 

4. 43° 	..dik 

189. 3TT-T-fo-  A AD = AC = CB, t x Wf TIR t 

1. 51° 	
1102° 

2. 78° 

3. 34° 	

Atike 

4. 43° 	.411k 
B 	C 	D' B 	C 	D 

190. if (al ., 2.+1 .1 and 16471  -8" . 0, then the value 
ofm and n are 
1. m=2,n= 4 	2. m = 2, n = 3 
3. m = 4, n = 2 	4. m = 3, n = 2 

 190. 	qR W0 ÷ 2- .1  .-P-TT 1641 _8" .0 th-  m -(21-r 

n* TIM.  t 
1. m = 2, n = 4 	2. m = 2, n = 3 
3. m = 4, n = 2 	4. m = 3, n= 2 

191. In figure, '0' be the centre of the circle, ZOAB=32°, 
LAPD=90° then the value of x is 

191. 	3Tre4 	# 	0 	1-0 	T 	c,.-q 	*, 	LOAB=32°, 
LAPD=90°, t x WT 111-9.  t 

1. 30° 

2. 32° 

I 34° 

D 	C 

32° 

(M) 

1. 	30° 

2 . 32° 

3. 34° 

D 

fr' i\P4) 
A 	 B 

4. 36° 	TIMIPIF 
A 	B 

4. 36° 
 

192. In figure '0' is the centre 
values of a and b are 

1. a = 30°, b = 30° 

2. a --- 15°, b = 15° 

of the circle 

a  ( 

ZQR0 = 30°, 
P 

Ilikr 

192. 	311-Tt A '0' DTI 'TT 
a .2.TT b* 111-1 * 

1. a = 30°, b = 30° 

2. a = 15°, b = 15° 

cs-q *, ZQR0 

a (4 

 	P 
= 30°, 

111§S 

0.  

3. a= 15°, b = 30° 
0 

.,a1111111 3o°„. 
3. a = 15°, b = 30° 

0 

-.Mils 	30°. 
4. a = 30°, b = 15° 	Q'NIIIIIIIIIIIVR 4. a = 30°, b = 15° Q WR 

Page  23 of 24 



193. 	If volume of a cube is L cubic units, its surface are is 
M square units and length of the diagonal is N unit, 
then 	 • 
1. 6L = MN 	2. 6.)5L = MN 

3. ,5M=LN 	4. 6N= LM 

193. q14 	Lct 	17ff TT 31TTEd-9. 	L El7 	*ct4, 	*flcill 
ttr1Na.)71:FF 	M 	qlf 	*(4-4 	2.rr f4wEri 	4 
FTWt N *crt.4 t, 

1. 6L = MN 	 2. 6,5L = MN 

3. -sfil 1 1 = LN 	 4. 6N = LM 

194. 	In a triangle, the average of any two sides is 6cm 
more than half of third side, then area of the triangle 
(in sq. cm.) is 
1. 64f 	2. 48,5 

3. 72; 	4. 36; 

194. .-) f'31-7 # t 	T3T)' 	-1.  3117-ff t7111. 117T 
"T. 	3TTO t 	6 	Tbit. 	31.ft-T 	t 	) 	flj.7 Th-T 
e)-WF WI 441. 4) Om 

I. 64,5 	 2. 48,5 

3. 72J 	 4. 36,5 

195. The area of circular ring enclosed 	between 	two 
concentric circles is 286 cm2. If the difference of their 
radii is 7cm, then the radii of these circles are 

1. 2cm and 9cm 

5cm and 12cm 

3. 4cm and Ilcm 

4. 3cm and 10cm 

	

1. 	2 34.41. .ff2-1-1.  9 1.2. 

195. t 	'-ic,.- 	c.j-K-1). 	4 	41-.1 	-, 	it--4 	Tic 	( 	41) 
*TT aTTF 	286 	-Tit 	NI 	* I 	44 	TTh't 
i77-43-  T31I TT 31--R.  7 	. t .ff).  VI 4 f --- fffq 
t 

2. 	5 tt. UP-11.  12 *11*. 
3. 4 , ..2TT 11 	44 
4. 3 *TT. c.2TT 10 tti. 

196. If 49V -49" =16464, then which of the following is 
equivalent of (2.x)z  ? 

	

1. 	(5)2 	 2. 	(7)72 

	

3. 	(3)'? 	4. None of these 

196. -.114 	49V -49" =16464 t 	cV914 t 	0.-I 
(2x)r 	GN1GN 	) 4 I1-? 

1 . 	(5)62 	 2. 	(7)72 

3. (3)'' 	 4. 9f t ctq rigi 

197. The ratio of the volumen of a cube to that of a sphere 
which will fit in side the sphere is 
1. 	5r:2 	2. 	2 : -‘57z. 

3. 3 :,hz 	- 	4. None of these 

197. Lch 	t1-1 A 	41 e) 	* 31171-ffff (EF \r11 	41 C) 

31-- 	tM •nLi t 317) -TT 371016 	1411 - 

1. 	-,1737r :2 	 2. 	2:5r 

3. 	3: ,fir 	 4. - 4 t 4,14 '-1 

198. The value of V20+14-5 + V20-14-5-  is. 

	

1.4 	 2.6 

	

3. 	8 	 4. 	10 

198. V20+14,5.. 420-145 Th-T 	11--1 t 
1.4 	 2.6 
3. 	8 	 4. 	10 

1 199. If 	m+,5, 	then 	the 	value 	of 
m 

m4 +3m3 +5m2 +3m+1 
is 

199.  1 	 4 	1 	2 
M +3m-  +5m +3m+1 	 41R 	=5, 	.ff)- 	 4)1 m+- 

m 	 ina +1  

1TM t 

	

I . 47
1 	

2. 45/ 

	

/21 	 /21 
3.  4Y 	 4. 4 / 

	

/23 	 /23 

m4 +1 

i .  4'7/ 	 2. 45/ 

	

/21 	 /21 
3.  4y 

	

23 	4. 4/23 
200. If X:Y:Z=4:3:2 	and 	x2 +y2 +z2 =11600, then 200. -(2.1T -IR 	X:Y:Z=4:3:2 	x2 +y2 +z2 =11600, 

the value of VX+Y-Z is 

	

1. 	10 	 2. 	100 

	

3. 	180 	 4. 60 

t )/X+Y-Z 	5T 4-11.-1 t 
1. 	10 	 2. 	100 
3. 	180 	 4. 60 
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